UGC NET 2021 Labour Welfare

Topic:- LabourWelfare_SHAAN_NOV21A

1) Explaining a relationship between satisfaction and performance, which of the following implicitly assumes that
"satisfaction leads to improved performance and dissatisfaction detracts from performance"?

JAdfSe 3iiz forcurgor @> dier @ Jder P AR w2 gy folFotfeiRaa o A fepad Az siafsifza e 3 foo "Aqfe Ioora forcurcet &l 3z o sirdl 3
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[Question ID = 1549][Question Description = S2_qSNz_PG_LBW_QO01]
. Attribution theory of motivation/aifdmur @1 ediwygre Rrgia [Option ID = 6196]

. Content theories of motivation/aifdRur @1 wee @t Brgia [Option ID = 6193]

. Vroom's Expectancy theory/qg @1 vaiadoft o1 RBrgia [Option ID = 6194]

. Adam'’s Equity theory/ws# @1 sferact @1 Rigia [Option ID = 6195]
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Correct Answer :-

e Content theories of motivation/asif$Rur @1 wee @1 Bigia [Option ID = 6193]

2) The belief that 'conflict is not only a positive force in a group but that it is absolutely necessary for a group to perform
effectively’ is associated with which of the following?

Az Aol b "Had il J3g 3 of ddcl YD ADPRICAD dcl 3 dicd Az APs D gurdl forcurcet @ fere siforart sragrman &' -
ey Adfea 3 ?
[Question ID = 1550][Question Description = S2_qSNz_PG_LBW_Q02]

. Unitarist view/umicsad efteaior [Option ID = 6197]

. Traditional view/uwuzmra eftewiur [Option ID = 6198]

. Interactionist view/3ia: Jidarct efleapiur [Option ID = 6199]

. Human Relations view/arerdRr idel 3 gs1 eftemivr [Option ID = 6200]
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Correct Answer :-
e Unitarist view/uwIea® eftewpiur [Option ID = 6197]

3) OCTAPACE is an acronym developed by Udai Pareek which identifies eight important values relevant to an organisation’s
culture. Which one of the following gives the correct expansion of the term OCTAPACE?

sifaertRt uos uf¥auil orec 3 f31R1 36 uIl¥es of faR¥1d fopan SiiR Sl fap=il Hero01 b Armiar @ 3116 FHdId ud Ascayyl Hc=il Dl usiel @l &
forgotferi¥aa 3 31 wlol sifaertia oreg bl Al carear wr 3 ?

[Question ID = 1551][Question Description = S2_qSNz_PG_LBW_Q03]

1. Openness, Cooperation, Trust, Authenticity, Proaction, Autonomy, Collaboration, Experimentation/gciuot, 3@=is1, fdeart, ygnforpdr, qi-udoel (3gfdrf),
FARIAAI, AsHIBIAr, gRisaifgar [Option ID = 6201]

2. Openness, Confrontation, Trust, Authenticity, Proaction, Autonomy, Collaboration, Experimentation/geidel, ®weole} fdeart, yenfirpdr, qI-udoll,
FARIAAI, ABIBIA1, gRieraifgar [Option ID = 6202]

3. Openness, Confrontation, Trust, Autonomy, Proaction, Avoidance, Cooperation, Experimentation/¥gciidel, ®wole] fear, AR, GI-Udolel, uf¥dsiol,
Jeier, gRipralfgar [Option ID = 6203]

4. Openness, Cooeration, Truthful, Authenticity, Proaction, Authority, Collaboration, Experimentation/gciuel, 3@=ier, J¥cdr, YD, Ji-Uaolel, YD,
eIl 3aifdrar [Option ID = 6204]

Correct Answer :-
® Openness, Cooperation, Trust, Authenticity, Proaction, Autonomy, Collaboration, Experimentation/gecisl, 3@=iel, fdedr1, goforsdr, gi-uaolel (3MefdrT),
IARKIAL, ASMBIAI, YRllerariear [Option ID = 6201]

4) Consideration and Initiating Structure as the dimensions of leadership were identified by which of the following?

forraifeiRaa 3 A pad GRI olgea @ Rl & »u 3 fariehsr daen YRt e &t usare & a1 3 ?

[Question ID = 1552][Question Description = S2_qSNz_PG_LBW_Q04]

. The lowa leadership studies/elar @1 olqea et srezrret [Option ID = 6205]

. Michigan leadership studies/fifSmrer @I olcgea et srezrrer [Option 1D = 6206]

. The Ohio State leadership studies/slteril 3¢c @1 oiqea Adeft srezrrer [Option ID = 6207]
. The Harvard leadership studies/ards @1 aicqea idelt srezrrer [Option ID = 6208]

A w N =

Correct Answer :-
e The lowa leadership studies/eiar @t olqgea 3idtht sieerrer [Option ID = 6205]

5) Who developed the Warwick Model of HRM?



fep2101 HATeIa AATEE Yderol (Ta. 3MR. uH) dfsa ol v -

[Question ID = 1553][Question Description = S2_qSNz_PG_LBW_QO05]
1. David Guest/3fas srzc [Option ID = 6209]

2. Hendry and Pettigrew/3ss siiz ufesy [Option ID = 6210]

3. Dave Ulrich/3a 3af¥a [Option ID = 6211]

4. Harvard/smfs [Option ID = 6212]

Correct Answer :-
e David Guest/3fds e [Option ID = 6209]

6) Which one of the following is related to on-the-job training?

forgoiferRaa 3 2 Blol BrRIfodsia (3ife - ¢ - Sifa) yfdrgor A Adfa 3 ?

[Question ID = 1554][Question Description = S2_qSNz_PG_LBW_QO06]
Committee assignments/fifer siricor (3Rmse#cT) [Option ID = 6213]

Special classes/fagra wemd [Option ID = 6214]

Case study /et @t sierIel ( @A 3¢st) [Option ID = 6215]

Role playing/ sifarept foretrer (et werger) [Option ID = 6216]

A W N -

Correct Answer :-
e Committee assignments/3ifdifer smdcar (3RmSsdcT) [Option ID = 6213]

7) The process of estimating the quantity and quality of people required to meet future needs of the organisation is called:
JHoT6e1 b APTE Ta9AH TSIl Bl YT Bol D feru rifdra el bl Fizea vd JJurasr @ 3irapeol bl yfepn waelrdt 3 :-

[Question ID = 1555][Question Description = S2_qSNz_PG_LBW_Q07]
1. Managerial Judgement/ydercbr fowfr [Option ID = 6217]
2. Human Resource audit/#mera iimere cximot [Option ID = 6218]

3. Supply forcasting/smyfefer sigpemret [Option ID = 6219]
4. Demand forcasting/difst @1 sfgret [Option ID = 6220]

Correct Answer :-
e Managerial Judgement/yserbir fowfr [Option ID = 6217]

8) Job analysis is the procedure for:
DRI frayur fprds forfdra gfcpan 3 : -

[Question ID = 1556][Question Description = S2_qSNz_PG_LBW_QO08]

Describing about the remuneration/uif¥gifdies @1 qvfer 2ot [Option ID = 6221]

Determining the duties and skill requirements/gciRRrl siiz @loret srsmall @ freur w2l [Option ID = 6222]
Fixing the responsibility/3azeifRica @t forerfsuor wor [Option ID = 6223]

Allotment the duties/giRRrl @1 siicat @2t [Option ID = 6224]
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Correct Answer :-
e Describing about the remuneration/uif3giféas @t avier a2t [Option ID = 6221]

9) What should be the maximum number of representatives in the Joint Management Council?

Jgep gdtrol ufvug i gfeifeilRRI 6l siffrasdsr Iz o1 32 aRIT ol anfde ?

[Question ID = 1557][Question Description = S2_qSNz_PG_LBW_Q09]
Six only/@act &: [Option ID = 6225]

Twelve only/@det ars [Option ID = 6226]

Sixteen only/a@aet et [Option ID = 6227]

Twenty only/dact fd=1 [Option ID = 6228]
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Correct Answer :-

® Six only/@aca s: [Option ID = 6225]

10) Under which section of the Industrial Disputes Act, 1947, both the Central and State Government have the power to
constitute a Court of Inquiry?

3N faarc sifeforier, 1947 &l b &RT B 3idsia d>g daT IS Sloll &l IRDRI D URT Siid oARICRI D 166 Pl HfUDR & ?
[Question ID = 1558][Question Description = S2_qSNz_PG_LBW_Q10]

1. Section 6/emr 6 [Option ID = 6229]
2. Section 10/emr 10 [Option ID = 6230]
3. Section 7/emr 7 [Option ID = 6231]
4. Section 5/emx 5 [Option ID = 6232]

Correct Answer :-



® Section 6/emr 6 [Option ID = 6229]

11) Which country is called '"Home of Collective Bargaining?

"ARIdD AlSarsii @ #R" b SoI @I wal il & ?
[Question ID = 1559][Question Description = S2_qSNz_PG_LBW_Q11]

Japan/smarer [Option ID = 6233]

. Great Britain/sJe fdgat [Option ID = 6234]

. United States of America/3ige g s@if¥ar [Option ID = 6235]
. Canada/aarrst [Option ID = 6236]
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Correct Answer :-
® Japan/smrer [Option ID = 6233]

12) An unauthorized strike that is called for without the approval of the union, is commonly known as

IfoRIel @ 3iodIGel @ ferel A fopRIl SRIT 1A ¢l ESAICT DI AATGI: 5T ol A Silel SIreT 3 ?

[Question ID = 1560][Question Description = S2_qSNz_PG_LBW_Q12]
1. Bandh/ag [Option ID = 6237]

2. Quickie strike/fracht s¢sa [Option ID = 6238]

3. Wild-cat strike/arses dc ¥grs® [Option ID = 6239]

4. Sit-down strike/Bie- s@a1 s [Option ID = 6240]

Correct Answer :-
e Bandh/dg [Option ID = 6237]

13) Excluding provisions of Section 22 of the Payment of Bonus Act, 1965, what is the maximum time limit, within which
the bonus should be paid by the employer with sufficient reasons?

o1 Fcrr siféiforiar, 1965 &t et 22 o) Bisdm: 5 e @ sidsia siférmda o JerI-Men & siasia orRNwbI grR1 Ity BRUll & ATer
SIo1 T YIIdTol Dol AT ?

[Question ID = 1561][Question Description = S2_qSNz_PG_LBW_Q13]

1. One year/uvs ad [Option ID = 6241]

2. Two years/c1 ad [Option ID = 6242]

3. Three years/dlor adf [Option ID = 6243]
4. Five years/dfa ad [Option ID = 6244]

Correct Answer :-
® One year/uw® ad [Option ID = 6241]

14) Which one of the following Articles of Fundamental Rights includes Equality of Opportunities for all citizens in matters
relating to employment or appointment to any office under the state?

Fifer S1ffrpRI @ fogeifeiRaa b srefedal A v I IsA D siaela Rp1l RISt 3 srerar ol erifcr 3 BRI A AdfRia serel 3 @i
SIPIf¥D! @ 3ra1R bt AaTerar orfdrer 3 ?

[Question ID = 1562][Question Description = S2_qSNz_PG_LBW_Q14]

1. Article 16 (1)/aiggeda 16 (1) [Option ID = 6245]
2. Article 17 (1)/3mggeds 17 (1) [Option ID = 6246]
3. Article 19 (1)/amds 19 (1) [Option ID = 6247]
4. Article 18/3mds 18 [Option ID = 6248]

Correct Answer :-

e Article 16 (1)/3mds 16 (1) [Option ID = 6245]

15) Which one of the following authorities has the power to prescribe the certificate of fitness to workers in a factory
under the provisions of the Factories Act, 1948?

forgaifeiRaa gifermif¥=il 3 A fpard> urt orRwren if2fori, 1948 @ udtll & 3ideid dR0 d BEPIRI Bl fibcol:T YaHIvT-ud fafcer wor bt
orfep 3 ?

[Question ID = 1563][Question Description = S2_qSNz_PG_LBW_Q15]

1. The Certifying Surgeon/ygmrmat Isfet [Option ID = 6249]

2. The Owner or Occupier of the Factory /e @1 Zasft semar siférsrar [Option ID = 6250]
3. The Chief Inspector /s fordtera [Option ID = 6251]

4. The State Government/3se1 3R@R [Option ID = 6252]



Correct Answer :-

e The Certifying Surgeon/ggmrmdf sler [Option ID = 6249]

16) When an employer asks employees to sign a type of loyalty oath stating that "the employee would neither join nor
participate in the activities of a union" is known as:

S forIpI Dfarst A b YdR @ foresT 9ruer uq U 83dIgR Pl DI dadl & PRIUR A fecrad 8l b "watars forrer & aifefafril 3 of ar
oNf3rct 31o1 3i12 of &l 1T Ao, Bl 3 -

[Question ID = 1564][Question Description = S2_qSNz_PG_LBW_Q16]
1. The Conspiracy Doctrine/usziq @1 RBrgia [Option ID = 6253]

2. The Yellow-Dog Contract/3ci-sfor Jarsiiar [Option ID = 6254]

3. Unfair Labour Practices/ s 99t =aerR [Option ID = 6255]

4. Collective Bargaining Agreement/mifaes 3iidarsit wsiiar [Option ID = 6256]

Correct Answer :-

® The Conspiracy Doctrine/wsziq @1 Bigia [Option ID = 6253]

17) Under the provisions of the Building and Other Construction Workers' (Regulation of Employment and Conditions of
Service) Act 1996, at least how many days before the commencement of the building work is an employer required to
send a written notice regarding the construction of building?

$1ol Ud 3fc?I ATAIVI PRPIR (IJASPIR @I fAformec] ud Jar-ord) siféiforar, 1996 @ yraensil @ siasia fp=il forilwo1 A sigor forator oR &
3R B0t A PA-A-BIH fobeal el gd erder & forarfor A Hdfera v feifRaa siifet sisal 6 sragm 3t 3 -

[Question ID = 1565][Question Description = S2_qSNz_PG_LBW_Q17]
1. Ninety days/90 f&sif [Option ID = 6257]

2. Sixty days/60 f&eif [Option ID = 6258]

3. Thirty days/30 feaii [Option ID = 6259]

4. Two months/gx ae [Option ID = 6260]

Correct Answer :-
e Ninety days/90 f&sit [Option ID = 6257]

18) "Labour is not a commodity” is the assertion made in which of the following?

"o U DI oidl 3" forsoifeilRaa 3 A fovar A goIR s grar 37
[Question ID = 1566][Question Description = S2_qSNz_PG_LBW_Q18]

1. The Magna Carta/dsatraref [Option ID = 6261]

2. The Philadelphia Declaration of ILO/3ms vt 3it @1 fbemsfewen diwun [Option ID = 6262]

3. The Constitution of India/smza @ 2ifdemer [Option ID = 6263]

4. The Universal Declaration of Human Rights/direrarférari 3 3ddfera ndsiifdias diwon [Option ID = 6264]

Correct Answer :-

® The Magna Carta/dsormret [Option ID = 6261]

19) If any question arises as to the application or interpretation of standing orders certified under the provisions of the
Industrial Employment (Standing Orders) Act, 1946, either the employer or workmen can refer the same to which one of
the following authorities?

N foriiser (Fearfl srSon) sif2iformar, 1946 & yratnoll & sicaefa yeniota Ferrft g9t & sreqyRileT srerar fadeen 3q afe s yost 3oar 3
Al foriTpT srerar W 3 foroifeRaa 3 I fpa Yuferest & Jast o siar 8 ?

[Question ID = 1567][Question Description = S2_qSNz_PG_LBW_Q19]
1. Appropriate government/@feia 3R®R [Option ID = 6265]

2. Industrial tribunal/sienf3re serrenférasaur [Option ID = 6266]

3. Labour court/gpt smrmert [Option ID = 6267]

4. Civil court/=asR serierr [Option ID = 6268]

Correct Answer :-
e Appropriate government/2mjfia 3rarR [Option ID = 6265]

20) Who viewed "trade unions as a means of representing the interests of workers through the strategies of mutual
insurance, collective bargaining, and legal enactments"?

feparept iR 2 o6 "ot Jiw urFufse i, AEId® Alcmifedr iR et sif2forme ol siferil @ FrepEr 3 eEPIRI @ Bdl & gfefofira o1
R21t5 T I

[Question ID = 1568][Question Description = S2_qSNz_PG_LBW_Q20]



John R. Commons/sifar. 3=, @istsaa [Option ID = 6269]

Sidney and Beatrice Webb/Brsoft 3iiz difezr da [Option ID = 6270]
Neil W. Chamberlain/sftet secep dewzetar [Option ID = 6271]

Karl Marx/@rct amaf [Option ID = 6272]
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Correct Answer :-
e John R. Commons/sifel. 3mR. @ietet [Option ID = 6269]

21) As per the provisions of the Payment of Wages Act, 1936, no fine shall be imposed on any employed person under the
age of:

FsIc R ifirforir, 1936 @ Yrateil & SioRIR fogoiferRad 3t 3 b 3>y 3 war @ fpfl forfSia cafts ur ®1E Spfonn o1&l creTRI SITwsTT ?

[Question ID = 1569][Question Description = S2_qSNz_PG_LBW_Q21]
Twenty one years/21 ad [Option ID = 6273]

Eighteen years/18 ad [Option ID = 6274]

Sixteen years/16 atf [Option ID = 6275]

Fifteen years/15 ad [Option ID = 6276]
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Correct Answer :-
o Twenty one years/21 ad [Option ID = 6273]

22) "We believe that if these committees (Works Committees) are given proper encouragement and the past errors are
avoided, they can play a useful role in the Indian Industrial System".

This statement was given by:

Iz foprchl 3fTb & - "5 Va1 Arerd 8 b Al so1 AR (PRI Afiferil) @I SR Qicrsd S se 3k gd 3 g8 sraferil A qar sie, dl A HRdR
3N dq A SuReh Yyt foren Ama &

[Question ID = 1570][Question Description = S2_qSNz_PG_LBW_Q22]

. The Whitley Committee of 1916/1916 i cerseet Afdfer [Option ID = 6277]

The Royal Commission on Labour, 1929/1929 @1 3fiet ddfteret 3ifor claz [Option ID = 6278]

The First National Commission on Labour, 1969/1969 @t gt ¢k gpt siriisr [Option ID = 6279]
The Second National Commission on Labour, 2002/2002 o1 fgefir 2meckr gt siriter [Option ID = 6280]

AWN—\

Correct Answer :-

e The Whitley Committee of 1916/1916 & ssrseet Afdtfer [Option ID = 6277]

23) As per the provisions of the Payment of Wages Act, 1936, the registers, records relating to the payment of wages shall
be preserved for at least how many years after the date of last entry?

JeIce Jcr Siferfor, 1936 @ yaeell @ 3IeRIR ASIGE @ 3oIdrel A AdiR fircial @I et gfafte & ferfér 21 o 2 o ool auf ag
a® Heiv1 fdpan simee ?

[Question ID = 1571][Question Description = S2_qSNz_PG_LBW_Q23]

1. Three years/dior af [Option ID = 6281]
2. Ten years/ga ad [Option ID = 6284]

3. Five years/ufa ad [Option ID = 6282]
4. Seven years/3rd ad [Option ID = 6283]

Correct Answer :-
® Three years/dlor adf [Option ID = 6281]

24) Which one of the following statements is correct with respect to the Minimum Wages Act?

ol A Foic AfoRIA B Hder 3 fomorfciRaa weroll & 3 @il Aé 3 ?

[Question ID = 1572][Question Description = S2_qSNz_PG_LBW_Q24]
1. Only one Schedule covers different types of seasonal industries/fiféroor yor @ sl 3ehell ®l waz w2l dreft ddct vdb 3oyt 8 [Option ID = 6285]
2. Only one Schedule covers different shops and commercial establishments/fiféeor gl vd adifsIe yferoioll @I onfiiel ol arcft dact v 3R 8 [Option
ID = 6286]
3. Three Schedules cover Factories, Plantations, and Mines /@R, eIl 37 X6l @l 9nfdel Dol dreit ol YRR & [Option ID = 6287]
4. One Schedule having two parts covers industries and agriculture/vw® 3oyt & fSrRId a1 e1re1 3zisil 3z DY ol onfdier B & [Option ID = 6288]

Correct Answer :-
e Only one Schedule covers different types of seasonal industries/ff8tcor yorR @ siiemlt Ieisll Bl Baz Dol arclt dact v Rt 3 [Option ID = 6285]

25) Which among the following is NOT a major type of Safety Audits?

forgotferfiac 3t A Plol M SRAIDT DT YIX IABU ofdl 3 ?
[Question ID = 1573][Question Description = S2_qSNz_PG_LBW_Q25]



Scheduled Audit/ smpRifer caicer [Option ID = 6289]

Unannounced Audit/sriftre craiaser [Option ID = 6290]

Compliance with standards/aeia! @ sfourciol [Option ID = 6291]
Promotion of safe behaviour/3Rfé1a =asr @1 Jatfer [Option ID = 6292]
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Correct Answer :-
e Scheduled Audit/srgfera craiaat [Option ID = 6289]

26) Social Insurance is described as 'giving in return for contribution' and benefits up to the level of

e den oI ufssftia fosn siar 3 fob u1E sivicrar @ faru = siet aren yferems 8, SrRacbt cmst gairg 3 : -
[Question ID = 1574][Question Description = S2_qSNz_PG_LBW_Q26]

Luxurious living/frenf3ramgut Sftaer a2 &t [Option ID = 6293]

Fair living/3Rm Sfiaet 3= &t [Option ID = 6294]

1.

2.

3. Subsistence living/sfiqer-forafs =2 &t [Option ID = 6295]
4. Descent living/#ifea Sfiast a2 &6t [Option ID = 6296]

Correct Answer :-
® |uxurious living/fenf¥rarguf Sfiaer a2 &t [Option ID = 6293]

27) Due to the operation of the law of diminishing returns, the demand curve of labour

ofi fSU 318 @ereT &l ue: -
"SIRIBIAT gRT & Rigia @ yacds & brRur 9Jpt & difsr ax” -
[Question ID = 1575][Question Description = S2_qSNz_PG_LBW_Q27]

1. Slopes down/dfia aeft & [Option ID = 6297]

2. Moves upward/3w siedt & [Option ID = 6298]

3. Remains static/Rer 3&ft 2 [Option ID = 6299]

4. Slopes downward and then moves upward/=s usel offal it 8 fib2 u= 6t 8l airdt & [Option ID = 6300]

Correct Answer :-
e Slopes down/sfta aiedt 2 [Option ID = 6297]

28) Usual Status (US) unemployment is calculated with reference to the date of the survey to a preceding period of

RIsEIEL Gt ARIey Fefer (g :ed) & sren o fere fuacdt sraf?r & fedor el @ rdervr ot s 3= srar 3 -

[Question ID = 1576][Question Description = S2_qSNz_PG_LBW_Q28]
. One day/uw f&at [Option ID = 6301]

. Seven days/z f&at [Option ID = 6302]

. Thirty days/<rx f&et [Option ID = 6303]

. Three hundred sixty five days/diter it tero f&at [Option ID = 6304]

A WN -

Correct Answer :-
® One day/u® fgat [Option ID = 6301]

29) Full Employment is said to exist, if

guf foriiSIel A4 acIdl 8 S -

[Question ID = 1577][Question Description = S2_qSNz_PG_LBW_Q29]
1. The actual rate of unemployment does not exceed the natural rate/¥RIspRt &t ardafie g2 Yoits g2 3 siféd of a

[Option ID = 6305]
2. The actual rate of unemployment exceeds its natural rate/RIspms aRdAfd® &2 Paiiia &2 A siftd at

[Option ID = 6306]
3. The actual rate of unemployment is equal to natural rate/RIspIR &t aRAlI® G2 YDHID G2 D RIR al

[Option ID = 6307]
4. All of these/3ufes it

[Option ID = 6308]

Correct Answer :-

e The actual rate of unemployment does not exceed the natural rate/&RIsemst & ardafie &2 Yl &2 A Siftd o a
[Option ID = 6305]

30) Which one of the following is NOT concerned with a Job Description?



forgoifeiRaa & A dler a1 BRI-fAazer A AdferT o dt 8 ?

[Question ID = 1578][Question Description = S2_qSNz_PG_LBW_Q30]
1. Job summary/rf @ 2ifém faazor [Option ID = 6309]

2. Experience/smfsra [Option ID = 6310]

3. Working condition/@rf @t &t RBefer [Option ID = 6311]

4. Supervision given/fden sr wfdgr [Option ID = 6312]

Correct Answer :-

® Job summary/®rf @1 Jiféra f@sur [Option ID = 6309]

31) Explaining to understand human behaviour which one of the following emphasizes that, "the person and the
environmental situation do not function as independent units but, in conjunction with the behaviour itself, reciprocally
interact to determine human behaviour™”.

JIoTd RIGEIR DI AISTol DI RIRKT Dol 3 forFatfciRad 3 A Blal AT BAAD 3 a1 UR T ol 8 &b " e w=IesrR @l forerifya ool @ forw cafte
3R vatarviRr Rreufer Facdq sorseil @ WU I DRI ol B 3, afed IRl RIesR D ATA URFULD U A iafdgen a8 "

[Question ID = 1579][Question Description = S2_qSNz_PG_LBW_Q31]
1. Social learning Framework/menfsia sifésm@ warawm [Option ID = 6313]

2. Behaviouristic Framework/=rasrarct gaaes [Option ID = 6314]

3. Cognitive Framework/istonicaicd waam [Option ID = 6315]

4. Organizational Development Framework/3isissice Barad [Option ID = 6316]

Correct Answer :-
e Social learning Framework/amaf3res siférer warad [Option ID = 6313]

32) "The labour movement prepares the ground wherein the seed of trade unionism grows.” Who said this?

s foprol wal o5 "o siiciciol ag Swflel dRIR W 3 PR T3 Aforioiars @1 dist ot 3

[Question ID = 1580][Question Description = S2_qSNz_PG_LBW_Q32]
1. G. D. H. Cole/sft €t wa. @ [Option ID = 6317]

2. S. D. Punekar/wa1 st gz [Option ID = 6318]

3. Karl Marx /et sirast [Option ID = 6319]

4. Frank Tannenbaum/w @weatsdia [Option ID = 6320]

Correct Answer :-

e G.D. H. Cole/sfttua. @k [Option ID = 6317]

33) The determination of basic long term objectives of an enterprise and the adoption of courses of action and allocation of
resources necessary to achieve these goals is known as:

Oh 3erd DI RISt SEimpIiciad 3894l 3R 368 ¢S], Dol Dl YIRIT Dl 3PP Mol DI Yferagdr aar 3ol cigAl bl giffy @ fere srsdt AArerell &
3iTecol Wl @Bl ST 3 -

[Question ID = 1581][Question Description = S2_qSNz_PG_LBW_Q33]
1. Strategies/viiferif [Option ID = 6321]

2. Policies/sfiferif [Option ID = 6322]

3. Procedures/yfégmd [Option ID = 6323]

4. Rules/form [Option ID = 6324]

Correct Answer :-
e Strategies/3vmhferif [Option ID = 6321]

34) Which one of the following is NOT a principle of coordination laid down by Mary Parker Follett?

forgoifeiRaa & A dlar A1 I3 UrB: BiA SRI MR fPU 310 JAdeaa D Rrgidl i A v o8l 8 -

[Question ID = 1582][Question Description = S2_qSNz_PG_LBW_Q34]
1. Principle of direct contact/yrer 2iuas o1 Bigia [Option ID = 6325]

2. Principle of early start/sirer sms @1 RBrgia [Option ID = 6326]

3. Principle of reciprocal relationship/sieeitcenfsje it @1 Brgia [Option ID = 6327]

4. Principle of completeness/zigufar @1 Brgia [Option ID = 6328]

Correct Answer :-
e Principle of direct contact/yeirer 3iuas @1 RBrgia [Option ID = 6325]

35) Who is also known as 'the father of social system school' of management thought?

gdtrel RaRHRI @ "ARNRIe RIare Fae’ @ Slold @ #U 3 21 Sifel Sirr 3 ?
[Question ID = 1583][Question Description = S2_qSNz_PG_LBW_Q35]



Herbert A. Simon/ad¢ u. fialier [Option ID = 6329]
Henri Fayol/er3t weitet [Option ID = 6330]

Elton Mayo/weeat @il [Option ID = 6331]

Chester Barnard/aez geifs [Option ID = 6332]

A WN -

Correct Answer :-
e Herbert A. Simon/&d< u. fiaier [Option ID = 6329]

36) In an attempt to integrate individual and organisational goals, who developed the concept of Linking Pin?

RIftpard 3l AidToford cIgl @ IRiIsIol @ YRIRA 3, bl 'feifdpar firer’ bt Jdbcuc @t fafera fdam ?

[Question ID = 1584][Question Description = S2_qSNz_PG_LBW_Q36]
Elton Mayo/uceat 3t [Option ID = 6333]

Rensis Likert/38r1 cfiew [Option ID = 6334]

Max Weber/da21 da2 [Option ID = 6335]

Mary Parker Follett/d3t urasz wict [Option ID = 6336]

A W N -

Correct Answer :-
e Elton Mayo/ueeat 3Rl [Option ID = 6333]

37) A set of human resource management policies and practices that promote organizational effectiveness is known as:

[Question ID = 1585][Question Description = S2_qSNz_PG_LBW_Q37]
Human Resource Information System/stera 3Rirrer ol wiazen [Option ID = 6337]
Human Resource Management System/dirora iRirrol Yatrol orazen [Option ID = 6338]
Human Resource Audit System/aiema Jiirerel car wrazen [Option ID = 6339]

High Performance Work System/3ca forurger @rf wiazen [Option ID = 6340]

AW N =

Correct Answer :-
e Human Resource Information System/sera 3Rireret 3o wiazen [Option ID = 6337]

38) Taking into account the characteristics of transnational managers, the three core roles and responsibilities: worldwide,
business strategist, architect of an asset and resource configuration and cross-border coordinator and controller are
associated with which of the following forms of transnational management?

SiaRIedRI gaieral &l ferorudrsii @l earel 3 3 g, 3ol «ilol #xe1 YIIDIV 3R IcIRica @ dAffawm =IuR Wielifdror, Aufe siiz AdA1ere o1
IPUUT AT BRI diS2 IATAD 312 foriqa- foafciRad 3 A RIS gaee @ b U A Adfda & ?

[Question ID = 1586][Question Description = S2_qSNz_PG_LBW_Q38]
Worldwide functional management/dfaas fagzieaias ydtror [Option ID = 6341]
Geographic subsidiary management/siisiifets srI® Yt [Option ID = 6342]

Global business management/df%aem wmurR ydtor [Option ID = 6343]

Top-level corporate management/3ca ¥askr foemt (corporate)ystret [Option ID = 6344]

A wWw N =

Correct Answer :-
e Worldwide functional management/dfae fepaireares yeitrot [Option ID = 6341]

39) Who among the following focussed on the soft side of an organization as a sequel to globalization comprising adhocracy,
simple structure, the divisionalized form, the machine bureaucracy and the professional bureaucracy?

foreatferRaa 3 A ®lel decdiapu1 O uf¥vier FasU IcUcd dceldr, IR I¥doll, deffad U, Foflell cliendl aen Uk slidmondl S Hose B
DI Uil UR &6l DIGA Dl 3 ?

[Question ID = 1587][Question Description = S2_qSNz_PG_LBW_Q39]
Burns and Stalker/ac3f iz 3¢z [Option ID = 6345]

Henry Mintzberg/gsr! ficstast [Option ID = 6346]

J. S. Black/ax. vt scia [Option ID = 6347]

Bartlett and Ghoshal/ardee siiz aurer [Option ID = 6348]

A wWN =

Correct Answer :-
e Burns and Stalker/as3f 3liz 3¢faz [Option ID = 6345]

40) The quantitative gauge of a human resource management activity, such as employee turnover, hours of training per
employee, or qualified applicants per position is known as:

JHlold AATeI6l Yol @ fpRirapedl ol e HIel, Sikifs watarst uf¥ader &2, yfer wearst yfdrgvr @ €@ srerar gfer uc e dmafanf¥=il bt
IR P D3l Sl S -

[Question ID = 1588][Question Description = S2_qSNz_PG_LBW_Q40]



Human Resource Benchmarking/direra 3iirier @t dilolcs enfued don [Option ID = 6349]
Human Resource Data Analytics/#rora Jiieret @ 3iasi ot faeaduur aelr [Option ID = 6350]
Human Resource Metrics/amera 2iimret set [Option ID = 6351]

Human Resource Appraisal/diera 3Rt e forerfaur [Option ID = 6352]

A W N -

Correct Answer :-
® Human Resource Benchmarking/aiera 2izierer @t o enfid aon [Option ID = 6349]

41) Which of the following are the internal factors of recruitment?
A. Recruitment Policy

B. Sons of the soil

C. Image

D. Human Resource Planning

Choose the correct answer from the options given below:

forgaifeiRaa 3 ®lal 3 el D sialre or® 3 ?

A. sl ofifer

B. sfdr g

C. sfa

D. arora 16t AlStol

il fou s1u Rrepeul 3 A I IR BT a6l HIfSIE ©

[Question ID = 1589][Question Description = S2_qSNz_PG_LBW_Q41]

A, B and C only/a@act A, B afiz C [Option ID = 6353]
A and B only/dact A siiz B [Option ID = 6354]
A and D only/dact A siiz D [Option ID = 6355]
A, C and D only/daet A, C siiz D [Option ID = 6356]

A W N -

Correct Answer :-
® A, Band C only/aacr A, B siiz C [Option ID = 6353]

42) Which among the following are the determinants of the supply of labour?
A. Product demand

B. Preference for Work versus Leisure

C. Number of firms

D. Number of qualified suppliers

Choose the correct answer from the options given below:

forgarferRaa 31 3 Plet A 91 bl syfef D e T ?

A. 3curg & ifor

B. 3rao191 Feiet B Bl grerfpar

C. mufordl &I iz

D. A7 sgfefasataii &t e

il fou o1 fraseul 3 3 A IR BT TI6Tl HISIE :

[Question ID = 1590][Question Description = S2_qSNz_PG_LBW_Q42]

A and B only/d>act A siiz B [Option ID = 6357]
B and C only/dact B sfiz C [Option ID = 6358]
C and D only/dsaet C siiz D [Option ID = 6359]
B and D only/@aet B siiz D [Option ID = 6360]

A W N -

Correct Answer :-
e A and B only/d@aet A siiz B [Option ID = 6357]

43) Which among the following are theories of labour welfare?
A. Social Responsibility theory

B. Placating theory

C. Public Relations theory

D. Coordination theory



E. Accountability theory

Choose the correct answer from the options given below:

forgatferRaa 31 21 Pblal 91 BT & Rigia 3 ?

A. ARSI ImReIRica T Rigia

B. wrrfést @1 Rigia

C. uféer fectorat @1 Rigia

D. ptoaa &1 Rrgia

E. SazeiRra @1 RBrgia

il fou s1u fyeseul 3 2 A IR BT w6l HIfSIE ©

[Question ID = 1591][Question Description = S2_qSNz_PG_LBW_Q43]

1. Aand B only/d>aet A siiz B [Option ID = 6361]
2. B and D only/dae B siiz D [Option ID = 6362]
3. Band C only/dsaet B siiz C [Option ID = 6363]
4. D and E only/a@ac D siiz E [Option ID = 6364]

Correct Answer :-
® A and B only/@act A 3iiz B [Option ID = 6361]

44) Which among the following are the indirect costs of industrial accidents?
A. Loss of earning power

B. Loss of production

C. Paperwork

D. Legal issues

E. Equipment

Choose the correct answer from the options given below:

forgatferRaa 3 3t siienBre gHeomnsil & sigeaer uf¥err & ?

A. orftp 3ursier & gifer

B. 3curcar &t eifer

C. ot oR

D. ®igpoll F=IcT

E. Suwmur

il f3u a1 fraseul 9 A W& IR BT Il BRI :

[Question ID = 1592][Question Description = S2_qSNz_PG_LBW_Q44]

. A and B only/dact A 3iiz B [Option ID = 6365]
. A and C only/aaer A siiz C [Option ID = 6366]
. B and D only/dae B siiz D [Option ID = 6367]
. D and E only/@aet D iz E [Option ID = 6368]

A w N =

Correct Answer :-
e A and B only/dact A 3iiz B [Option ID = 6365]

45) Who among the following are Classical Economists?
A. J. B. Say

B. Marshall

C. Pigou

D. David Ricardo

Choose the correct answer from the options given below:

forgerfeiRaa 3 dletl omfiRr srefor<fi & ?
A.SLda
B. mofer



C. disg,

D. 3fas st

il fou o1 fraseul 3 3 A IR BT TI6Tl HISIE :

[Question ID = 1593][Question Description = S2_qSNz_PG_LBW_Q45]

. A and B only/aaet A siiz B [Option ID = 6369]

. B and C only/dsaa B siiz C [Option ID = 6370]
. Aand D only/a@aet A siiz D [Option ID = 6371]
. Cand D only/aae C 3iiz D [Option ID = 6372]

A W N -

Correct Answer :-
e A and B only/@aet A 3iiz B [Option ID = 6369]

46) Who among the following were the founder members of the Red Trade Union Congress?
A. S. V. Deshpandey

B. G. L. Khandelkar

C. B. T. Ranadiv

D. R. R. Bhalla

Choose the correct answer from the options given below:

forgatferRaa 3i 3 Blel I35 T3 YfoRIol BidYA D IFAUD JSH & 7

A. vadigomis

B. sfl.uat. FmwsTIa:

C. dt&onfea

D. 31m2. 3mR.seett

il feu sru el 3 A A8 IR D1 WRIel B :

[Question ID = 1594][Question Description = S2_qSNz_PG_LBW_Q46]

1. A, Cand D only/dae A, C 3z D [Option ID = 6373]
2. A, Band C only/a5aa A, B siiz C [Option ID = 6374]
3. B, C and D only/daer B, C iz D [Option ID = 6375]
4. A, B and D only/dsaet A, B siiz D [Option ID = 6376]

Correct Answer :-
e A, Cand D only/adact A, C siiz D [Option ID = 6373]

47) Which of the following are the ways of determining a representative union for the purpose of Collective Bargaining in
India?

A. Code of Discipline

B. Secret Ballot

C. Check-off System

D. Membership Verification

Choose the correct answer from the options given below:

aRd I ARIR® Alcarstt & sToa o fere yferforf?r da ot Ffoilia oo @ foarfeiRaa i wlor 2 afid 3 ?
A . 3rq9IRTIal i Jfdar

B. 31 #AcIcIol

C. I - 3 Brea

D. ¢ Acardst

il f3u a1 fraseul 3 A W) IR BT I HIRdIE ©

[Question ID = 1595][Question Description = S2_qSNz_PG_LBW_Q47]

1. Aand B only/ddet A siiz B [Option ID = 6377]

2. A, Band C only/@aa A, B siiz C [Option ID = 6378]
3. B, C and D only/daer B, C iz D [Option ID = 6379]
4. A, B, Cand D/A, B, C sz D [Option ID = 6380]

Correct Answer :-
® A and B only/@aet A 3iiz B [Option ID = 6377]



48) Which three welfare schemes for unorganized workers, the Central Government shall formulate and notify time-to-time
under the Unorganized Worker's Social Security Act, 2008?

A. Life and Disability Cover

B. Protection of Employment Cover
C. Health and Maternity Benefit

D. Old Age Protection

Choose the correct answer from the options given below:

IRIFISA PRPIRI @ fe1u fdbol dicl BcUT ATSIeI3I DI 3RISIISA PRIPIR ARG I AorEI, 2005 @ siasid, dg IRDR IR - IR U2
gyferaifea siiz siferpfara ol ?

A. Siiget 3R 39RPdl B

B. J2sm 3iiz ASPIR B

C. Fare 3ii? Argwa o

D. ggazen JRen

il fou s1u frapeul 3 2 & IR BT a6l HIfSIE ©

[Question ID = 1596][Question Description = S2_qSNz_PG_LBW_Q48]

A, B and C only/@aet A, B siz C [Option ID = 6381]
A, C and D only/daet A, C siiz D [Option ID = 6382]
A, B and D only/@aet A, B siiz D [Option ID = 6383]
B, C and D only/dact B, C siiz D [Option ID = 6384]

A WN -

Correct Answer :-
e A, Band C only/aac A, B siiz C [Option ID = 6381]

49) By end of 1933, which three all India trade union organizations were in existence?
A. All India Trade Union Congress

B. The Red Trade Union Congress

C. National Trade Union Federation

D. Indian Trade Union Federation

Choose the correct answer from the options given below:

oL 1933 & i awm ®lot 2l dier sifRaa s 9 Ja (s Aforrer) sif¥awa af & ?
A. 3if3aer AR 9firn g DT

B. 5 ¥ g3 Yforrar wivka

C. dl9reieT ¢35 YfoRIol BS9IeT

D. 3330t ¢s JforIel B39

il fou s1u fyeseul 3 A A IR BT w6l HIfSIE ©

[Question ID = 1597][Question Description = S2_qSNz_PG_LBW_Q49]

A, B and D only/dact A, B afiz D [Option ID = 6385]
A, B and C only/dact A, B siiz C [Option ID = 6386]
B, C and D only/a@5aa B, C aiiz D [Option ID = 6387]
A, C and D only/daer A, C siiz D [Option ID = 6388]

A W N -

Correct Answer :-
e A, Band D only/aaet A, B 3iiz D [Option ID = 6385]

50) Who among the following took the lead in organizing the Federation of Indian Chamber of Commerce?
A. Sri Purshottamdas Thakurdas

B. Lala Shriram

C. G. D. Birla

D. Dhirubhai Ambani

Choose the correct answer from the options given below:

forgatferi¥aa 3 A fpediol B39r6l 3iTP 336t AR 3ifb DIl Bl AH3TSA Dol I Slgramrl YfarpT forrs ?



A. off yauila orperAa

B. eIren offerar

C. sft. 31 e

D. efizsns siamcft

ofid o s1u fwsedl & A A8 IR BT WRI6T BT :

[Question ID = 1598][Question Description = S2_qSNz_PG_LBW_Q50]

A, B and D only/@aet A, B 3iiz D [Option ID = 6389]
A, B and C only/d@aet A, B siiz C [Option ID = 6390]
B, C and D only/a@ae B, C siiz D [Option ID = 6391]
A, C and D only/d@aet A, C siiz D [Option ID = 6392]

A W N -

Correct Answer :-
e A, Band D only/aac A, B siiz D [Option ID = 6389]

51) Which of the following are the key components of a third-generation balanced scorecard?
A. Destination Statement

B. Strategic Objectives

C. Strategic Linkage Model and Perspective

D. Measures and Initiatives

Choose the correct answer from the options given below:

forgsiferRae 31 3 PBlel A &S SAGRIGT AchA FIDR PIS D FIX 3R 3 ?

A. 3¥éelorar ecdic

B. ¥ sifssiferea

C. ¥cfor feidsr diisa Us witfdca

D. 5=t Us sofifdrufecar

il fou o1 frpeul 9 A I IR BT w6l HIfSE ¢

[Question ID = 1599][Question Description = S2_qSNz_PG_LBW_Q51]
1. Aand B only/@act A siiz B

[Option ID = 6393]
2. Cand D only/a@act C sfiz D

[Option ID = 6394]
3. A, B and C only/daa A, B aie C

[Option ID = 6395]
4. A, B, Cand D/A, B, C sz D

[Option ID = 6396]

Correct Answer :-
® Aand B only/dact A 3iz B

[Option ID = 6393]

52) Which two of the following organisations conducted a joint workshop on the subject of defining the informal sector in
1997?

A. The National Commission on Labour

B. National Council for Applied Economic Research (NCAER)
C. The Self-Employed Women's Association (SEWA)

D. The National Commission on Rural Labour

Choose the correct answer from the options given below:

forFaiferRaa 31 A fpot QY Jerodll of ad 1997 3 siluaifya & B uldenfteT w1 o TRl UR e AYTP PRI BT Risier fpar ?
A. d9re1e1 wdiore sifel ciaR

B. g or9reret PRRIC BRR wItcliss swleiifde 1t (NCAER)

C. g A SFCIRIS gAcA AIfdeorel (SEWA)

D. g o19rcict @wetorat 3ifel H3cl claR



ofia fu sru farpeul 3 A 2t IR DI R Diferm :
[Question ID = 1600][Question Description = S2_qSNz_PG_LBW_Q52]

A and B only/d@act A siiz B [Option ID = 6397]
B and C only/dqct B sfiz C [Option ID = 6398]
C and D only/daet C siiz D [Option ID = 6399]
A and D only/@ac A siiz D [Option ID = 6400]

A W N -

Correct Answer :-
® A and B only/d@act A siiz B [Option ID = 6397]

53) As per the approved list of Indian Labour Conference, in which of the following three items should the Works
Committee not normally deal with?

A. Wages and Allowances

B. Administration of welfare and funds

C. Bonus and profit-sharing schemes

D. Matters connected with the fixation of the standard labour force

Choose the correct answer from the options given below:

forotfeiRaa 3 A fpet et fareril uz orRf AT DY sl o AFcTor Bt sgpEiea it B sig>u MR Uz R oiél weon @ifdw ?
A. qet 3z s

B. @cmvr 3z By @1 Yatiol

C. 9o 3iiR e faurpil AsTomy

D. #ein 9 ge1 @ fererizur A §3 eI

il fou s1u freseul 3 2 I IR BT a6l HIfSIE ©

[Question ID = 1601][Question Description = S2_qSNz_PG_LBW_Q53]

A, B and C only/a@act A, B afiz C [Option ID = 6401]
A, C and D only/daet A, C siiz D [Option ID = 6402]
B, C and D only/a@5aa B, C aiiz D [Option ID = 6403]
A, B and D only/d@act A, B sfiz D [Option ID = 6404]

A WN -

Correct Answer :-
e A, Band C only/aaer A, B siiz C [Option ID = 6401]

54) Choose the correct options regarding the theories of Motivation

A. Theory ‘X' and 'Y" are similar to each other

B. Two factor theory is derived by McGregor

C. The concept of ERG theory is similar to Maslow's hierarchy of needs theory

D. McClelland has identified the need for power, need for achievement and need for affiliation as the motivating needs

Choose the correct answer from the options given below:

afrzur & Rrgia & wder 3 sk Riacdl o gl -

A. X 3R Y Rigia ue g @ Famel 8

B. ¢ Bac? Rigid 3@ - IR D grI yferuea & s

C. $amrsh. (ERG) Rigia &t ey el @ Ma9uadl Uclodd Rigia @ e 3

D. Jiaacicis of 9Iftb bl a9 dr, IJuciioer I a9 dr 3R Aderel bl MagAddr bl fITRUT Ta9ABGAISLI & WU I UsdIell
il fou s1e fraseul 3 A W) IR BT Il BRI ©

[Question ID = 1602][Question Description = S2_qSNz_PG_LBW_Q54]
1. Aand C only/@det A 3k C

[Option ID = 6405]
2. Band C only/daet B aiiz C

[Option ID = 6406]
3. Cand D only/a@aer C siiz D

[Option ID = 6407]
4. Aand B only/@act A siz B

[Option ID = 6408]



Correct Answer :-
e Aand C only/aact A siiz C

[Option ID = 6405]

55) By which three of the following ways can an individual performance be planned?
A. Task analysis or activities analysis

B. Key Result Areas and Goal setting

C. Key Performance Area

D. Key Description Area

Choose the correct answer from the options given below:

forgotferRaa 3t A fpet diier asial A fopit cafts & orifsrourgsr & Arsion dois i AWl 3 ?
A. @Rl faeauvr a1 gz faecsuor

B. ygrzm ufevmar &iq sii= cgx forerizor

C. g priforsurcat i

D. ygRa faazur i

il fou o1 frpeul 3 A & IR BT a6l HIfSIE ¢

[Question ID = 1603][Question Description = S2_qSNz_PG_LBW_Q55]

A, B and C only/@act A , B siiz C [Option ID = 6409]
B, C and D only/a@aet B, C siiz D [Option ID = 6410]
A, C and D only/@saet A, C siiz D [Option ID = 6411]
A, B and D only/d@act A, B siiz D [Option ID = 6412]

AN w N -

Correct Answer :-
® A, Band Conly/adact A, B siiz C [Option ID = 6409]

56) Consider the statements relating to the fines under the Payment of Wages Act, 1936

A. No fine shall be imposed on any employed person until he has been given an opportunity of showing cause against the
fine

B. The total amount of fine which may be imposed in any one wage period on any employed person shall not exceed an
amount equal to three per cent of wages

C. Every fine shall not be deemed to have been imposed on the day of the act or omission in respect of which it was
imposed

D. Fine shall not be imposed on any employed person who is under the age of fifteen years
E. All fines and all realisations shall be recorded in a register to be kept by the person responsible for the payment of wages

Choose the correct answer from the options given below:

oI Jorr siftiform, 1936 o siceia Spfell & Jder 3 forafiRaa wewell uz far Hifse :

A. o3 9t BRI cafep Ur a9 @ Sdlelr oIdl TPIRI SIIesl S b b 3 Sifel @ Racine BRI ddlel @I 3R o &1 Sme
B. fp2fl forfSra cafts uz b2l v arsigst sraf?n 3 ceme S Adol ardt pifor 6t aet AfdI Ieigst & et yfererd A sifers ordl Ak
C. Y@ uifolt BRI AT gab o 3 o1 TIPIRIT IR 18] Aol SIeeT RRID Hder 3 A PRI SR 3

D. tgs ad A @ 3 @ fpil Forifsa safts uz Jeifen &l RN SITYsTT

E. it gafoll siiz 219ff QIffRil @) AsIgH @ FoRI D e Iaeril caftp @ ura 3 W< 3 oot fopar smeen

il feu sru fareedl 3 A A8 IR D1 WRIel B :

[Question ID = 1604][Question Description = S2_qSNz_PG_LBW_Q56]

A, B, C and D only/dact A, B, C 3iiz D [Option ID = 6413]
A, B, C, Dand E/A, B, C, D aiiz E [Option ID = 6414]

A, B, D and E only/dact A, B, D 3iiz E [Option ID = 6415]
A, B, C and E only/@aet A, B, C 3iz E [Option ID = 6416]

A w N =

Correct Answer :-
e A, B, Cand D only/daet A, B, C aliz D [Option ID = 6413]

57) Consider the statements with respect to the minimum rate of wages fixed or revised, under the Minimum Wages Act,
1948

A. Basic rate of wages with or without the cost of living allowances



B. Basic rate of wages and a special allowance at a rate to be adjusted at such intervals by the appropriate government
C. An all-inclusive rate allowing for the basic rate

D. Basic rate inclusive of house rent allowances and travelling allowances

E. Cash value of concessions, if any

Choose the correct answer from the options given below:

SIoTad Fsic siferforrar, 1948 & siaefa asicdl & forerifea & FHoNf2ra ooraar g2 @ e 3 forFarferRaa wemwell u? fdar Hifsr :
A. forafs sl & creraT Aifda a1 3AD o1 Asrcd & goric o=

B. ssicsl bl gforI 52 siiz AARM IRPR CRI B 3iaRIcll UR AARNRIA <2 u? 9y srar

C. gforidt o2 @ fere sropaca ad Jardeli g2

D. Frpret foperRn st SiiR A1y orar AR R g2

E. fRmrdl @1 oiws e, Al «Is a1 dI

o Re a1e Riescdl 3 2 & a2 9ol ©

[Question ID = 1605][Question Description = S2_qSNz_PG_LBW_Q57]

1. A, B, Cand E only/@act A, B, C siiz E [Option ID = 6417]
2. B, C, D and E only/adaec B, C, D iz E [Option ID = 6418]
3. A,B,C,DandE/A, B, C, D3iiz E [Option ID = 6419]

4. A, C,DandE only/@aa A, C, D aiiz E [Option ID = 6420]

Correct Answer :-
e A, B, CandE only/daa A, B, C 3iiz E [Option ID = 6417]

58) Consider the statements in connection with the Nomination under the provisions of the Payment of Gratuity Act, 1972
A. An employee who has completed one year of service shall require to make the nomination in the prescribed form
B. An employee may, in his nomination, distribute the amount of gratuity payable to him, against more than one nominee

C. An employee is required to make a nomination in favour of one or more member of his family if having family at the time
of making the nomination

D. If a nominee predeceases the employee, the interest of the nominee shall not revert to the employee

E. A nomination once made by an employee can be modified by the employee at any time with written notice to the
employer

Choose the correct answer from the options given below:

Jugcrel FGRI 3ifeiformr, 1972 & Iudel @ siqefa sufdrfias2ur & Fder 3 sof derwll U R o3-

A. ®I$ ofar BR16l 3rusil e ad &I Aar gl @ off 8l 3R f[afdda grsu 3 oidaiet &I srign st

B. @I$ watardl sruol iAol 3 3 YoIAIe! Ol Sileldrcil Jucrel AL o> ATAAT U A 3Mf® iRl o die w2 IADdar 3

C. fop2ft watardt A, Al cmdAiDor & FIRT IADI UlsarR 3l dl U rerdar If2rp A6 D 3a # sietiaver won Afda 3

D. afe =it onflifer bl ey Dofarst 2 usct a1 Siredl & ar A swfdifer @1 Ba watart @& Ba 3 svaiatea oél dlen

E. fpefl elarl gRI TP dR ool f[PT Sifel U= forRIepT @I b=l it 2RI feilRaa alifext Sd gu 3AD FRI A9Ma v ST JImar 3
il fou o1 fyepeul 3 2 &l 3a= goi ¢

[Question ID = 1606][Question Description = S2_qSNz_PG_LBW_Q58]

A, B, C and D only/d@aet A, B, C siiz D [Option ID = 6421]
B, C, D and E only/dact B, C, D siiz E [Option ID = 6422]
A, B, D and E only/dsaet A, B, D siiz E [Option ID = 6423]
A, B, C and E only/adact A, B, C 3iiz E [Option ID = 6424]

AN wN -

Correct Answer :-
e A, B, CandD only/adact A, B, C aiiz D [Option ID = 6421]

59) Which of the following are the advantages of group activities in accordance with the functions of an enterprise?
A. Logical reflection of functions

B. Maintain power and prestige of major functions

C. Follows principle of occupational specialisation

D. Responsibility for profit is at the top only

Choose the correct answer from the options given below:



Oh e D YDRIE D AU forgoifciRad 3 A dlel A ARIRBD Siferfaf2ril a cmi & ?
A. yoorit o1 aifte yfiifieer

B. Iz=1 yoorit bt 91ftb 3R YferssT dlI d6le 6l

C. e fadsiar & Rigidl 1 urciol doll

D. ems1 3rsior @1 ciffica Rrw ofidf uz 3

offa fou s1u fypeul 3 2 & 3a= goi ¢

[Question ID = 1607][Question Description = S2_qSNz_PG_LBW_Q59]

1. A, B and C only/dacr A, B siiz C [Option ID = 6425]
2. Aand C only/dact A 3iiz C [Option ID = 6426]

3. A, B and D only/dact A, B sliz D [Option ID = 6427]
4. A, Cand D only/daer A, C 3iiz D [Option ID = 6428]

Correct Answer :-
® A, Band C only/aac A, B siiz C [Option ID = 6425]

60) Which of the following factors are given in Porter's Diamond?
A. Factor conditions

B. Related and supporting industries

C. Market conditions

D. Demand conditions

E. Firm strategy and rivalry

Choose the correct answer from the options given below:

aIés @ SRS 3 foroifcRaa 3 A ®lol - dlol A ace v sre 3 -

A. ac® gond

B. 2idfera gd AsrRID® Selier

C. aNIR &l gond

D. yfcreorar &t wrehifer siiz gfergfaan

it fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 1608][Question Description = S2_qSNz_PG_LBW_Q60]

. A, B, Cand D only/adact A, B, C 3iiz D [Option ID = 6429]
. B, Cand D only/dae B, C, D aiiz E [Option ID = 6430]

. A, C,DandE only/dac A, C, D aliz E [Option ID = 6431]
. A, B, D and E only/dac A, B, D 3iiz E [Option ID = 6432]

A W N -

Correct Answer :-
e A, B, Cand D only/aact A, B, C siiz D [Option ID = 6429]

61) The facilities covered under the welfare and health of contract labour as per provisions of the Contract Labour
(Regulation and Abolition) Act, 1970 are:

A. Canteens

B. Drinking water facilities
C. Creches

D. Restrooms

E. First-aid facilities

Choose the correct answer from the options given below:

d Ffaend Sil srofafera ot (faforietet siiz Iodctet) sifeiforier, 1970 o graenoll @ IGRIR 3GIdiia DRPIR @ DIVl 3R FARLA D Jideid
anfsa & sredt 3 -

A. &&a
B. Uzrster & Jfaend

C. UIcleIRR

D. feroparera



E. gepiuar Jfeems
il feu sru faresedl 3 2 A8 Ia= goi ¢
[Question ID = 1609][Question Description = S2_qSNz_PG_LBW_Q61]

A, B, C, Dand E/A, B, C, D 3iiz E [Option ID = 6433]

A, B, D and E only/d@saet A, B, D siiz E [Option ID = 6434]
A, B, C and D only/daet A, B, C 3iiz D [Option ID = 6435]
A, B, C and E only/@aet A, B,C siiz E [Option ID = 6436]

A w N =

Correct Answer :-
e A, B,C,DandE/A, B, C, Daiz E [Option ID = 6433]

62) Which two of the following conventions of ILO related to Freedom of Association, Right to Organise and Collective
Bargaining have NOT been ratified by India?

A. Convention No 11
B. Convention No 87
C. Convention No 98
D. Convention No 100

Choose the correct answer from the options given below:

forgetferRae 31 21 3¢ wet 3l @ pat Q) ABRIRI @I $IRA SRI 3rcfdelal oiél b= sR1 3 Sl | bl Faddear ik Hersel vd AER® Al
ferpre A Adfera 3 ?

A. afirErr . 11

B. sif3rmery 3. 87

C. sifrmar 3. 98

D. sifSremert 31.100

il feu sru faresedl 3 A A8 IR D1 WRIet B :

[Question ID = 1610][Question Description = S2_qSNz_PG_LBW_Q62]

A and B only/dact A siiz B [Option ID = 6437]
B and C only/dsaet B siiz C [Option ID = 6438]
C and D only/daet C sfiz D [Option ID = 6439]
A and D only/d@aet A siiz D [Option ID = 6440]

A w N =

Correct Answer :-
® A and B only/@aet A 3iiz B [Option ID = 6437]

63) Consider the following statements under the Building and other Construction Workers' (Regulation of Employment and
Conditions of Service) Act, 1996

A. A building worker who has been registered as a beneficiary under the Act shall cease to be beneficiary when he attains
the age of sixty years

B. A building worker shall cease to be a beneficiary if he has not worked for at least ninety days in a year

C. If the building worker had been a beneficiary for at least three years continuously immediately before attaining the age
of sixty years, shall be eligible to get benefits

D. While computing the period of ninety days, the period of absence from the building or other construction work due to
any personal injury caused to him by accident arising out of and in the course of his employment shall be included

Choose the correct answer from the options given below:

3[d6l Ud 3[6%1 AfooldIvT PEEIR (JASPIR DI fAforee wd Jar 9rd) sifforEa, 1996 @ siaeia forafciRaa weEl u= AR &3 -

A. siftiforrar @ siasia el @ u d uslipd ®1F ®eeIR 16 ad &l IRy gl wd & cmsnefl odl 3 sieen

B. ®IF a6l BREIR, Al 33l bt ad 3 Ba A b ofed ol amd BRI of b 31 al g cnsmeff odl %@ Sesn

C. afe B saet PEPIR A6 ad &I IR Yl Bl B Sias uscl B A B ol aul aw cmsell 21 31 al a8 il B YT Bl DI Ul eI

D. o1eq f3oil <t sraf?r &l STUTeIr T2l LRI del eI 36 Afoorafvr BRI A fpft Jufepa aifor, st 3D forilsiol & SiRrel fop=fl gifeon A &¢ 3,
@D DRI g% srefuidefer & sraf?r s3dl onfdrer b smesil

o f&u s1u eyl 3 A 2l IR BT R DT
[Question ID = 1611][Question Description = S2_qSNz_PG_LBW_Q63]



A, B and C only/dact A, B aliz C [Option ID = 6441]
A, B, Cand D only/A, B, C 3iiz D [Option ID = 6442]
B, C and D only/aact B, C siiz D [Option ID = 6443]
A, B and D only/d@act A, B sfiz D [Option ID = 6444]

A WN -

Correct Answer :-
e A, Band C only/aac A, B 3iiz C [Option ID = 6441]

64) Which of the following are true relating to Potential Appraisals?

A. Inform employees about their future prospects

B. Help the organization to chalk out a suitable succession plan

C. Update training efforts from time to time

D. Advise employees about what they must do to improve their career prospects

Choose the correct answer from the options given below:

JHsnfaa e forerfaor & der 3 forgorferRaa 3 2 dlot a1 A& 3 ?

A. il @ Sad sfersr & Sootfer & a3 Jfera e

B. SUTh 31oImidiep AlSIoll i FUIHT Sollol # HdTSel I ABRIAT D6l

C. PR - IR R YfII810T @ YRATRAL DI 3MeEIdel Dol

D. wafanf¥=il @t u=raref ot fp 368 3raal A9 I yoIfer & fore R aon afde
il fou s1u fyeseul 3 3 & Fa= goi ¢

[Question ID = 1612][Question Description = S2_qSNz_PG_LBW_Q64]

A and B only/dact A siiz B [Option ID = 6445]

B and C only/dact B sfiz C [Option ID = 6446]

A, B and C only/aaet A, B siiz C [Option ID = 6447]
A, B, C and D/A, B, C siiz D [Option ID = 6448]

A W N -

Correct Answer :-
® A and B only/dact A 3iiz B [Option ID = 6445]

65) Consider the statements in connection with the liability for payment of wages to an inter-state migrant workman under
the provisions of the Inter-state Migrant Workmen (Regulation and Employment and Conditions of Service) Act, 1979

A. The contractor shall be responsible for payment of wages to each inter-state migrant workman

B. The principal employer shall nominate a representative duly authorised by him to be present at the time of disbursement
of wages by the contractor

C. It shall be the duty of the contractor to ensure the disbursement of wages in presence of the employers representative

D. In case the contractor fails to make payment of wages, the principal employer shall not be liable to pay wages to the
inter-state migrant workman

Choose the correct answer from the options given below:

oRATTID Yaril wHeR (JASHIR @ faforpre Td Aar -ord) siféforE, 1979 & yrasnsil & 3eRIR ARASA® Yaril wddRI Bl A A
@ cIRfIca @ ol 3 foorfciRaa werel R foar &3 -

A. YRIP IRRISTD YarTl PRPIR @I A #SIg DI IR 3BGR UR BI8I
B. gemet forilepT srael SR Yiferapyd Re=1 gfeifsifer ) 3dorR GRI ISl oI Ffdarur @ WIRI 3ul-erd ol @ e anfdra w¥wn
C. 3aer @ s gifRrea den oo a8 a1 Jforfaa @3 b asgdl @1 Ffaazur o A forirpT @1 gfaforfr suf¥era &

D. afe 3dcr ISIcH B I Dol 3 el el & dl yerrol ORI SidRIfSue garil wdeR] ol FSIgdl BT Y3TAre ®ol @ feru arern oidl
B3PI

il fou a1e fraseul 9 2 W& 3= goi ¢
[Question ID = 1613][Question Description = S2_qSNz_PG_LBW_Q65]

A, B and C only/d@act A, B siiz C [Option ID = 6449]
B, C and D only/a@5aet B, C sz D [Option ID = 6450]
A, B and D only/d@act A, B siiz D [Option ID = 6451]
A, C and D only/dsaet A, C siiz D [Option ID = 6452]

A wWw N =

Correct Answer :-

e A, Band Conly/@ac A, B siiz C [Option ID = 6449]

66) Match List | with List Il

IList I List 1l




Trade Unions Founder President

IA. Madras Workers Union I. B. P. Wadia

B. All India Trade Union Congress Il. V. V. Giri

C. Indian Trade Union Federation lll. Lala Lajpat Rai

D. Indian National Trade Union Congress IV. Suresh Chandra Bannerjee

Choose the correct answer from the options given below:

et -l oot 3gEh -1l A Fafera HifSie :

oret -1 ot -l

(gt ) (Iizemud 3reasy)
A. IGRT BEPIR AT |. df.ch.arfSm

B. sif3aer siciier o e wiofa 1. il Brdt

C. sz o ufesia 111, <Iret arsad IRT
D. siecdiRr AIsCRI 931 I PidfA IV. J9rig gorsil

oifa feu aru farsedl 3 A A8 3R gforu :
[Question ID = 1614][Question Description = S2_qSNz_PG_LBW_Q66]

A-1,B-1ll,C-1I,D- IV [Option ID = 6453]
A-1,B-1l,C-1ll, D - IV [Option ID = 6454]
A-11,B-1,C-1ll, D - IV [Option ID = 6455]
A-1,B-1V,C-II, D - lll [Option ID = 6456]

A w N =

Correct Answer :-
e A-I,B-1ll,C-Il,D-IV[Option ID = 6453]

67) Match List | with List Il

List | List Il

Schedule of
Provisions given in the schedule Industrial
Disputes Act

A. lllegality or otherwise of a strike or lock-out I. Schedule Il

B. Shift working otherwise than in accordance with

R Il. Schedule V
standing orders

C. Any changes in contribution paid or payable by
the employer to any provident fund or pension 11l. Schedule Il
fund

D. Failure to implement award, settlement, or
agreement

IV. Schedule IV

Choose the correct answer from the options given below:

It -1 Bt e -1l A gakma B

et -1 et -1l
] (3ienf3re faarg
(3ragedt 9 fSu s1u yraton) S sragrh)
IA. ESdIcT 1A drciadt &t sraenforasdr srerdr 361 IS 1 -
RIS
B. Ferrfl ol 3 3ccra 2 srovren foree BRI Il. srepreht V
C. fopaft srfersr forfer srerar dorer forfer f foripT GRI fdbU L. 3 "
31Q srerar RpY ST ardl siorcrel 3 wiE ufyadsr - B
D. e <Iae srerdl wR @ fapIreariel d fawerar IV. sropgeht IV

oifa feu aru faasedl 3 A 8 3R gforu :

[Question ID = 1615][Question Description = S2_qSNz_PG_LBW_Q67]
1. A-1ILB-1,C-1,D-IV
[Option ID = 6457]
2. A-lILB-I,C-1V,D-1l
[Option ID = 6458]
3. A-IV,B-Il,C-1lI,D-1I

[Option ID = 6459]
4. A-1,B-IV,C-1I,D- Il



[Option ID = 6460]
Correct Answer :-
e A-IILB-UI,C-1,D-1IV

[Option ID = 6457]

68) Match List | with List Il

List | List Il

A. Job analysis|l. A list of human requirements of a job

B. Job Il. Assigning workers additional activities at the same
specification |level

C. Job Ill. Procedure for determining the duties and skill
description requirements of the job

D. Job
enlargement

IV. A list of duties and responsibilities of a job

Choose the correct answer from the options given below:

et -1 B et -1l A e Hifdre
et -1 el -l

A. R fecsuur ||, fopit oRI @ HArerdRa srdgisil bl wa I

B. wr ||, BIHFIRI DI AT TR DI AT BRI Alusir
[frforS oret
C. orf avfer Ill. orf Fdeh ciRcal siiz wlerer srgmsit & forerfzor & gfepan

D. ®orf fatiar  |IV. =it orf 2 Hdfa siRieal ud sraracea 6t e It

oiiI f¢u are famedl 3 A A8 IR ot :

[Question ID = 1616][Question Description = S2_qSNz_PG_LBW_Q68]
1. A-NI,B-1,C-1V,D-1

[Option ID = 6461]
2. A-1,B-1l,C-1l,D-IV

[Option ID = 6462]
3. A-IV,B-1II,C-1I,D-I

[Option ID = 6463]
4. A-1,B-IV,C-1,D-1Il

[Option ID = 6464]
Correct Answer :-
e A-IIlbB-1,C-1IV,D-1l
[Option ID = 6461]

69) Match List | with List Il

List | List I

Type of MNC Focus

A. Multinational I. Home market and export

B. Global Il. Local respons1'veness and
transfer of learning

C. Domestic III.. Global strét'egy, low cost and
price competition

D. International V. Loc.al respo‘nsweness and
global integration

Choose the correct answer from the options given below:

et -1 B et -1l A e Hifdre
et -1 et -l




(ageresiar wufsrit @ yere) |(cig)

A. sgIrcdia |. 318 aeIR wd foriia

B. dfam 1. Femsfir gferfepamoficiar ud sif2era o1 s3aiaor
C. = Ill. dffaen Jvehifer, @war amPra ik Jgca gferruert
D. siqRisd IV. Femefir yferfipzmoficrar siik dffam udblaur

il fou a1 fseul 3 3 A IR gfom ©

[Question ID = 1617][Question Description = S2_qSNz_PG_LBW_Q69]
1. A-1,B-1l,C-1Il,D-IV

[Option ID = 6465]
2. A-1ILB-1V,C-1,D-Il

[Option ID = 6466]
3. A-IV,B-1I,C-1I,D-1

[Option ID = 6467]
4. A-11,B-1,C-1IV,D- Il

[Option ID = 6468]
Correct Answer :-
e A-1,B-Il,C-1ll,D-IV
[Option ID = 6465]

70) Match List | with List Il

List | List Il

|. The Building and Other Construction Worker's
IA. Committees |(Regulation of Employment and Conditions of
Service) Act, 1996

B. Expert Il. The Child and Adolescent Labour (Prohibition and
Committees Regulation) Act, 1986

C. Safety lll. The Mines Act, 1952

Committee

D. Technical
Advisory IV. The Factories Act, 1948
Committee

Choose the correct answer from the options given below:

el -1 @ 3 -1l ) Jafera bifSie

et -1 et -lI
. |. 9161 wd 316 JAfooldAIvI PRPIR (ASPIR BI fAforEIe vd

A. Afiferit
Jyar - 9rci), 1996

B. fRxorst bt Il. et ud fepoliz gt (gferer va faformeret) siferforra,
1986

C. 3zen Afdfer Ill. zaror siferforrar, 1952

- IV. orwren siftiforaa, 1948

offc feu aru frpedl 3 A 3 3R gfore :

[Question ID = 1618][Question Description = S2_qSNz_PG_LBW_Q70]
1. A-,B-UI,C-1IV,D-1l

[Option ID = 6469]
2. A-1,B-IV,C-1Il,D-I

[Option ID = 6470]
3. A-1IL,B-1,C-1V,D-Il

[Option ID = 6471]
4. A-IV,B-1Il,C-11,D-I

[Option ID = 6472]

Correct Answer :-



e A-I,B-1lIl,C-1V,D-1l

[Option ID = 6469]

71) Match List | with List Il

List | List Il

A. Ivan Pavlov I. Social learning theory
B. B. F. Skinner 1. S-O-B-C Model

C. Alberta Bandura lll. Classical Conditioning
D. Fred Luthans IV. Operant Conditioning

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

Rreht - et -1l

IA. sdrel graciia |. smafSres sifeerar @1 Rigia
B. dl.uw ¥biore Il. gar-3i-<t-2f1 3ifsaa

C. 3retact Sos3r Ill. om=<fir sroraetot

D. ® sqaea IV. sifudse srefdyetol

il fou s1e frseul 3 3 A IR gforw ¢
[Question ID = 1619][Question Description = S2_qSNz_PG_LBW_Q71]

A-1V,B-1ll, C-1I, D - [Option ID = 6473]
A-1,B-1l,C-1V, D - Ill [Option ID = 6474]
A-1ll,B-1V, C-1,D- Il [Option ID = 6475]
A-11,B-1,C-1lI, D - IV [Option ID = 6476]

A W N -

Correct Answer :-
e A-IV,B-Ill,C-Il,D- | [Option ID = 6473]

72) Match List | with List Il

List | List Il
A. Product life cycle theory I. David Ricardo
B. Transaction cost theory Il. R. G. Vernon

C. Comparative Cost Difference theory [lll. Dunning

D. Relative Comparative Cost

IV. Heckscher-Ohli
IAdvantages theory eckscher n

Choose the correct answer from the options given below:

et -l oot 3 -1l 2 Fgafera Hifste :

orett -1 il
A. Icurc Siigel - aday @1 Rigid (Jisdc dE® Asdd 3) |. 3fers frorst
B. cisiaorel dize Rigia Il. 3m=.sft. deifer

C. defollcad e iR @I RBigia (weRfea oie Bwia eadl) (Il syfoist

D. f¥cifea wsdfea wize wsdicst At IV. 3aaz - sisferor

offc feu oru frpedl 3 3 3 3R gforu :

[Question ID = 1620][Question Description = S2_qSNz_PG_LBW_Q72]
1. A-1,B-1,C-IV,D-1I

[Option ID = 6477]
2. A-1,B-1I,C-1Il,D-IV

[Option ID = 6478]
3. A-1ILB-1,C-1,D-1IV

[Option ID = 6479]
4. A-11,B-1V,C-1,D-1Il

[Option ID = 6480]



Correct Answer :-
e A-I,B-1ll,C-1IV,D-1I

[Option ID = 6477]

73) Match List | with List I

List |

List Il

Training techniques

Descriptions

IA. Monodrama

I. Training with an external perspective

B. Mirroring

Il. Insight into a given interaction

C. Skill games

Ill. Games to test ability to plan ahead

D. Strategic Planners

IV. Test to develop analytical skills

Choose the correct

answer from the options given below:

et -l oot 3 -1l A Fgafera Hifste :

xet -1 Rreh -1l

(gfdrgior awofid)  |(farazor)

A, HiclSEIT |. arer ulRgga & At gidigor

B. firf¥er 1. Jica urRFUR¥® faRn @1 sfedsiiol

C. Roa sig=1 Ill. 3ot <bi isten @ fare gEranr uf¥gor Adeh Jea
D. 3efrep waert ||V, faeswvncare siera fawmlRa wor & stia

oifa feu aru faasedl 3 A 8 3R gforu :

[Question ID = 1621][Question Description = S2_qSNz_PG_LBW_Q73]

A-1I,B-1v,C-Il,

A w N =

Correct Answer :-
e A-Il,B-I,C-1V,D

. A-IV,B-1ll,C-1,D-
A-1,B-1V,C-1,D -

A-1l,B-1,C-1V,D-Ill [Option ID = 6481]

D - | [Option ID = 6482]
Il [Option ID = 6483]
Il [Option ID = 6484]

- Il [Option ID = 6481]

74) Match List | with List Il

List | List Il

Theors{ of group Characteristics
formation

A. Propinquity
theory

|. Activities interactions and sentiments

B. Balance theory

Il. Similar attitudes towards commonly relevant
objects and goals

C. Exchange theory |lll. Reward-cost outcomes of interaction

D. George Homans'
theory

IV. Spatial or geographical proximity

Choose the correct

answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -

et -1l

(135 forator w1 Rrgier)

(Rrorera)

A. Yeariooldl &I
Rrgia

|. fépRmS, sia: fepRS wd siraemd

B. Jiqcial @1 Rigia

1. ATeITGRIa: AP 329l vd c1gl & gfer Arer
efcapior

C. faforerr o1 Rrgia

Il. sia:fepzm & ufyvmadl @1 gferse g

D. sitsf avdter @1 Rrgia

IV. >afdrrer (3maprofiRa) srerar siisiiciia Afsormedr

offa fou o1 frpeul 3 3 A I gforw ¢
[Question ID = 1622][Question Description = S2_qSNz_PG_LBW_Q74]

1. A-1,B-1I,C-1I,D
[Option ID = 6485]

2. A-1,B-1V,C-1,D-

%



[Option ID = 6486]
3. A-IV,B-1l,C-1l,D-I

[Option ID = 6487]
4. A-1IL,B-1,C-1V,D-1I

[Option ID = 6488]
Correct Answer :-
e A-I,B-Il,C-Ill,D-1IV
[Option ID = 6485]

75) Match List | with List I

List | List Il

A. Elton Mayo |. Father of Modern Management Theory
B. F. W. Taylor Il. Hawthorne effect

C. Henri Fayol Ill. Comprehensive social system approach
D. Chester Barnard IV. Principles of scientific management

Choose the correct answer from the options given below:

et -1 B g -1l A @ i

oxeht - | et -1

A. wccol AR |. seifere Yeitror Rrgia & stofd
B. ut.secy R Il. 3ferret swae

C. o1l WRirer lll. = AR dq @I zftemiur
D. e qoils IV. dsufore ydeor @ Rigia

oifY feu oru famedl 3 A 8 3R gforu :
[Question ID = 1623][Question Description = S2_qSNz_PG_LBW_Q75]

A-11,B-1V, C-1,D - lll [Option ID = 6489]
A-1,B -1V, C-1ll, D -1 [Option ID = 6490]
A-11,B-1V, C-1l,D -1 [Option ID = 6491]
A-1lI,B-1,C-1V, D - Il [Option ID = 6492]

A w N =

Correct Answer :-
e A-Il,B-1V,C-1,D-Ill [Option ID = 6489]

76) Arrange the following in sequential order from the beginning to the end so far as the procedure for implementation of
Certified Standing Orders under the provisions of the Industrial Employment (Standing orders) Act, 1941

A. Draft Standing Orders submitted by the Employer to the Certifying Officer

B. Modified copies of the Standing Order submitted before the Certifying Officer if required

C. Copies of the Standing Orders communicated to the Employer and representatives of workmen
D. Implementation of Certified Standing Orders

E. Application of model Standing Orders

Choose the correct answer from the options given below

Sienf3ier forilstor (Ferrft anSorn) siffiformer 1946 & grasior & sidela Yo Ferft snSell & Rpareasior 3q Yfipwnsil ot sm3sr A 3id dd D
3elpA A forFolRIR wraf¥erda @3 -

A. foRIFPT GRI Yamford 3if2rprt ol yreu TRl 31891 Yded el

B. Feril sncoil &1 onfera yferit ygmrer siferersl &1 13181, Afe smafda a1 grga & siedl 3

C. zerrfl sngoll &t gferit forlwp1 aen wiler @ yferferf2ril ot Asgfta &l sicdl 3

D. ganfdra rerft sncoll @1 erifcarier

E. amcof Ferfl snoll @I sieIgiIeT

il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 1624][Question Description = S2_qSNz_PG_LBW_Q76]

A, C, B, E [Option ID = 6493]
, A, C, B, D [Option ID = 6494]
C, B, E, D [Option ID = 6495]
B, A, E, D [Option ID = 6496]

AN
ﬁ}>l"'\o

Correct Answer :-
e D, A, C, B, E[Option ID = 6493]



77) Given below are the different steps of process of learning. Arrange these from beginning of the process to the end.

A. Assimilation or retention

B. Acquiring knowledge

C. Internalization of new knowledge
D. Application of new learning

E. Self-monitored learning

Choose the correct answer from the options given below

sifeera &t yftpen @ ffdteot vl ofikl Ru se & 368 YRt A sifenr ao aueg @3 :
A. 3IICHATCDHT AT FIRVT

B. SR Yra woln

C. off Siror3 @I sriaf¥dbiazur

D. o1u sifemEr @1 YRIeT

E. ¥a - uf¥difém@ siftera

ofid fou o1 el 3 A 8t Iz gt :

[Question ID = 1625][Question Description = S2_qSNz_PG_LBW_Q77]

1. A, B, C, D, E [Option ID = 6497]
2. B, A, C, D, E [Option ID = 6498]
3. B, A, D, C, E [Option ID = 6499]
4. E, A, D, C, B [Option ID = 6500]

Correct Answer :-
e A B, C, D, E[Option ID = 6497]

78) The career management process can be sequenced in five stages. Arrange these stages from the beginning to the end

A. Strategy

B. Assessment
C. Planning

D. Development
E. Evaluation

Choose the correct answer from the options given below

DRI gderer gfipn ot uid arvil # apiag o s Jawar 3 grRites 3 sifeer @ wu 3 368 auieag &3 ¢
A. ureiifer

B. smwetet

C. Astorr

D. R

E. gcaiaor

il 3w a1 fyaseul 9 A W& 3R goi ¢

[Question ID = 1626][Question Description = S2_qSNz_PG_LBW_Q78]

1 B, D, E [Option ID = 6501]
2. A, B, C, D, E [Option ID = 6502]
3. B, A, D, E, C[Option ID = 6503]
4. A, C, E, D, B [Option ID = 6504]

Correct Answer :-
e A C, B, D, E[Option ID = 6501]

79) Arrange the four levels of training evaluation from the first to the last as given by Kirkpatrick :
A. Reaction

B. Results

C. Job behavior

D. Learning



Choose the correct answer from the options given below

gfor1g1v1 FeAidbol D AR IRl Pl PPURD B IIGRAR YU A iR am g D3 ¢
A. gferfegem

B. ufeumar

C. @RI 3rERUT

D. siféera

il fou s1e fraseul 9 2 & Fa= goi ¢

[Question ID = 1627][Question Description = S2_qSNz_PG_LBW_Q79]

B, C, D, A [Option ID = 6505]
C, B, A, D [Option ID = 6506]
. D, A, B, C [Option ID = 6507]
A, D, C, B [Option ID = 6508]

A W N -

’

Correct Answer :-
e B, C, D, A [Option ID = 6505]

80) Arrange the different phases of strategic planning in multinational firms starting from the beginning to the end :
A. Strategic business units

B. Entry and participation strategy

C. External and internal analysis

D. Organisational structure, control and coordination mechanism

Choose the correct answer from the options given below

g gfersoreil 3 2viehifer ston @ fafteor arull @1 yrRidin A siftsr & o 3 J=md
A. wEhfers RIaRIRI sPHIEl

B. gaer a sssnfdran <t wishifer

C. 9@ g 3rifye frecsswur

D. ivIoolcda e, BRIGUI a e dd

il fou s1e fraseul 9 A & 3a= goi ¢

[Question ID = 1628][Question Description = S2_qSNz_PG_LBW_Q80]

1. C, A, B, D [Option ID = 6509]
2. A, C, D, B [Option ID = 6510]
3. B, D, A, C [Option ID = 6511]
4. D, B, C, A [Option ID = 6512]

’

» By

Correct Answer :-
e C, A, B, D[Option ID = 6509]

81) Arrange the following Indian Trade Union/Organisations on the basis of their founding year from the earliest to the
latest

A. United Trade Union Congress

B. The Red Trade Union Congress

C. The Textile Labour Association of Ahmedabad
D. Hind Mazdoor Sabha

E. Self Employed Woman's Association

Choose the correct answer from the options given below

forgoiferRaa 9jpt 2wl / JsToall DI IJId FAUST ad D IMIER U YRIIPG A 3iferr am iy o3 &
A. Jotrses gs Yforaor widkA

B. 5 ¥3 T3 Iforiel wivfA

C. g eaacrsa Aar YAIRIReret 3iie s

D. &g a1z A81m

E. Acw wrwciizs fa@ier daAiReorst



offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 1629][Question Description = S2_qSNz_PG_LBW_Q81]
B, D, A, E [Option ID = 6513]
C, D, E, B [Option ID = 6514]

, C, A, D, E [Option ID = 6515]
D, C, A, B [Option ID = 6516]

» Yy

A W N -

)y~

Correct Answer :-
e C,B, D, A, E[Option ID = 6513]

82) Arrange the following phases of internationalisation from the first to the fourth phase as identified by Adler and Ghadar

A. Domestic

B. Multinational

C. Global

D. International

Choose the correct answer from the options given below

TSR 3R T3 FRI &l 3 Usdid @ 3MoRIR foraifciRaa siaricéRia2ur @5 arull &l usdl A A & a9l 3 Aafed s :

A. @y

B. sgareda

C. dRa®

D. sicrefsdter

il fou s1e fraseul 9 3 & Fa= goi ¢

[Question ID = 1630][Question Description = S2_qSNz_PG_LBW_Q82]
1. ¢,D, B, A

[Option ID = 6517]
2. A,C,D,B

[Option ID = 6518]
3. A,D,B,C

[Option ID = 6519]
4. A,B,C,D

[Option ID = 6520]

Correct Answer :-
e C,D,B, A

[Option ID = 6517]

83) Arrange the main schemes of Workers Participation in Management according to their year of formation from the
earliest to the latest

A. Joint Management Councils

B. Shop Councils

C. Board-Level Participation

D. Institution of Employees' Participation in Management for Public Sector Undertakings
E. Works Committee

Choose the correct answer from the options given below

DRPIRI &l ydere 3 HPRicR! df X AlSTeI3il Bl 3oid foraivr & ad o 3[eRIR Usdl A 3ifeH & @i 3 =raf¥ed a: -
A. e gdere ufvug

B. ®rfonen uftug

C. a1 - TR &l yfernBran

D. adsifors g @ Suaydl @ fere gderet 3 wafaifyl & gfesnBrar 3q sivend

E. orf aafifer

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 1631][Question Description = S2_qSNz_PG_LBW_Q83]



B, D [Option ID = 6521]
, C, A [Option ID = 6522]
B, D [Option ID = 6523]
B

1
2.
3.
4 , A [Option ID = 6524]

Correct Answer :-
e E, A C, B, D[Option ID = 6521]

84) Arrange in sequence the following legislations in order of their years of enactment from the earliest to the latest
A. The Minimum Wages Act

B. The Payment of Wages Act

C. The Payment of Gratuity Act

D. The Payment of Bonus Act

E. The Equal Remuneration Act

Choose the correct answer from the options given below

usd A iR @ ma 3 PrafeRaa fensil o1 Jord sif2iforper & auf @ GRIR RMaf¥erd ®3 :
A. gtad IS sifdiforran

B. asigll icrr siftiforrar

C. Sucret 3R siferforaa

D. diora Jcrr siférforaa

E. Jpme aif¥ofre sifrforiar

il fou s1o fRyepeul 3 21 & 3a= goi ¢

[Question ID = 1632][Question Description = S2_qSNz_PG_LBW_Q84]

B, E, D, C [Option ID = 6525]
A, D, C, E [Option ID = 6526]
, A, E, D, C [Option ID = 6527]
C, D, A, B [Option ID = 6528]

Correct Answer :-
e A B, E, D, C[Option ID = 6525]

85) Arrange the committees/commission in sequence from the latest to the earliest, as per the year they were set up
A. Royal Commission on Labour

B. National Commission on Labour

C. Standing Labour Committee

D. Labour Investigation Committee

E. Bihar Labour Enquiry Committee

Choose the correct answer from the options given below

FUIUGI D qufl D AR Usal A siferd oA i sol AR / SIRIBI @I caaf¥erd o3 -
A. 3er 9Ja1 rRIBT

B. Irs¢iRr 9pat 3IrRIIsT

C. rerft g Affe

D. gf Sifa afaifer

E. fer 9p1 sita Afdfer

il fou s1u fyeseul 3 3 & Fa= goi ¢

[Question ID = 1633][Question Description = S2_qSNz_PG_LBW_Q85]

1. C, B, D, E, A [Option ID = 6529]
2. B, D, C, E, A [Option ID = 6530]
3. E, B, C, D, A[Option ID = 6531]
4. A, E, D, B, C [Option ID = 6532]

Correct Answer :-
e C,B, D, E, A[Option ID = 6529]



86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Financial inclusion is desirable to help the weaker sections of the society in the country
Reason R: Investment activity needs to be promoted to facilitate access to development benefits

In light of the above statements, choose the most appropriate answer from the options given below
il ol ool R sre 3 v aifdrperst (A) @ wu 3 feilRaa 3 Al ¢RI 371 ®RuT (R) D wu 3 :

sifdreret (A) : foriRT FAIMA9IGT SOI 3 TSI D DISIR dsll I AGRIAT @ fo1e aigeiir

@R (R) : frpR1 & omil ad ugd IIRITe ool @ foru forder ideft sl ot aorar f=n sien aifde
SWRITD Dol D 3MIelld #, ofld 16w 31w faraedl 3 A AR IUuYTD IR DI TRIol BT ©

[Question ID = 1634][Question Description = S2_qSNz_PG_LBW_Q86]
1. Both A and R are correct and R is the correct explanation of A/(A) iz (R) grail 2@t 8 3l (R), (A) & 3 = 8

[Option ID = 6533]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3z (R) cleil 3@t 3 wsq (R), (A) 6t 3 = ordt &

[Option ID = 6534]
3. Ais correct but R is not correct/(A) 3t @ wog (R) 3@t ot 8

[Option ID = 6535]
4. Ais not correct but R is correct/(A) 3t oidl 8 udog (R) 2t 28

[Option ID = 6536]
Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) sfiz (R) gleil 3@t & 3iik (R), (A) 6l 38 xR 8

[Option ID = 6533]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Intra-mural and extra-mural welfare facilities in organizations are mutually complimentary
Reason R:  The work-life balance needs to be ensured in order to get the best output from an employee

In light of the above statements, choose the most appropriate answer from the options given below
ofid A1 werot fBu o1 3 ;. uop sifdrverct (A) & wu 3 fiRaa 3 @ g1 3ud orvl (R) & »a 3 :

sifSreperet (A) @ Jordell 3 sidfl¥e 3ii? arer DeavT JfALT IR 361gRd Bl 3

@R (R) : fepft wpatardt 3 siferrae sn3eye g ool @ fére ori siiz Siidel & dfa JAqetor Jforf2ia fosen sien @fde
SWRITP Pl @ 3Mrelld d, ofld 3w s1u Rapedl 3 A AR IuYP IR DI RIol HIRIT

[Question ID = 1635][Question Description = S2_qSNz_PG_LBW_Q87]
1. Both A and R are correct and R is the correct explanation of A/(A) iz (R) ciail 3@t 3 3z (R), (A) &t 3 wmen 8

[Option ID = 6537]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) siz (R) cleil 3 & w3oq (R), (A) i At e oidt &

[Option ID = 6538]
3. Alis correct but R is not correct/(A) 3@ & usoq (R) 3@t odt &

[Option ID = 6539]
4. Ais not correct but R is correct/(A) &t si@t 8 udsg (R) &t 8

[Option ID = 6540]
Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) el 3@t & 3k (R), (A) 6 38 e 3

[Option ID = 6537]

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Structural inertia is an organizational resistance process to change because organizations have a built-in
mechanism to produce stability

Reason R:  People with a high need for security are likely to resist change because it threatens their feeling of safety

In light of the above statements, choose the most appropriate answer from the options given below
ofid A1 werot fSu a1 3 : U sifdrverct (A) & wu 3 filaa 3 @ gzt sud orur (R) & »a 3 :

sifdrperet (A) @ Fdclcad Siswa o5l agama @ yfer Fsroetcard gierier & gfipn & arRiifes Fsroeil 3 ferar crol & fere dqi o1 foretior fesem
3

@RI (R) : e &t Ica AT arct clisll GIRI d6cld I YfeRIer dol Pl 3ifera JHeirdoln 3l 3 a=iifs s ordhl et Bl sraen Bt T
BIem 3

SWRIFP Pl @ 3Mrelld d, ofld 3w 31u Rrapedl 3 A AR IuYP IR DI RIol HIPIT ©

[Question ID = 1636][Question Description = S2_qSNz_PG_LBW_Q88]
1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) ciail &t 3 32 (R), (A) &t 3 wmen 8

[Option ID = 6541]



2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) clail 38t 3 woq (R), (A) 6l 3 =1 ot &

[Option ID = 6542]
3. Ais correct but R is not correct/(A) 3 8 weog (R) &t ol 8

[Option ID = 6543]
4. A‘is not correct but R is correct/(A) 3@ =gt 8 weog (R) &t 2

[Option ID = 6544]

Correct Answer :-

e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) gleil 3@t 2 3z (R), (A) &t A& mren 3
[Option ID = 6541]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: It is one thing to hold that the role of the state should be minimal, and quite another to hold that industrial
relations should be based only on bilateralism

Reason R: Bilateralism is an essential ingredient of industrial relations and both parties should rely on it as far as possible. But
it cannot be denied that there is a role that mediation, arbitration, adjudication or third party intervention can play to
ensure industrial peace with justice to both sides and to the society

In light of the above statements, choose the most appropriate answer from the options given below

il &1 perol feu a1e 31 uop sifdrperet (A) @ wu 3 feilRaa 3 al grr 33d oRur (R) & wu 3 @

3ifdrpeel (A) @ U A As & fob ASA DI YPPT YeIad dlofl Tfde, 3R G dd As 8 [ IFENRPIP Hder dac fEusac Uz nentyd dlol aifde

@Rl (R) : fgusiars 3iEnfPre el BT Uhb MM@a9A® awd 3, 3112 gloll USll DI $AUR ALURIHT R Dol dIfdT cifdbel 33T a1 A ToIDR I8l
fop=11 ST Aar 3 b FALATAAT, AEARRI, IRITIURIGT AT dIR12 Ul DI 83181 Slall Ugll 311 AT D Yfel o @ A1 e onfer Jforaa
ool 3 yfdrent foren A 3

SWRID DUl D 3MIclld 3, ikl f6u a1u fdaedl 3 A A IUYTD IR DI TRIol DI :

[Question ID = 1637][Question Description = S2_qSNz_PG_LBW_Q89]
1. Both A and R are correct and R is the correct explanation of A/(A) iz (R) gleit 21t 2 3l (R), (A) 6t 24 wmeen 3

[Option ID = 6545]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) @il 3 & w3sq (R), (A) 6t A&t e oidt 8

[Option ID = 6546]
3. Ais correct but R is not correct/(A) 3@ 8 woq (R) &t o8t 3

[Option ID = 6547]
4. A'is not correct but R is correct/(A) 3@ oet 8 wog (R) &t 2

[Option ID = 6548]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) sfiz (R) gleil 3t & 3z (R), (A) 6 318 = 3

[Option ID = 6545]

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Attitudes of confrontation must give place to an attitude of genuine partnership

Reason R: Organizations of workers as well as employers, and the state itself, should identify and create the conditions on
which harmonious relations that we need can be created and maintained

In light of the above statements, choose the most appropriate answer from the options given below

oii<l S Dol fu are 3 : o 3ifirped (A) @ u 3 feiRaa 3 al grI 33D DRI (R) D U @
sifdrperet (A) : A BT B DT Bl Bisd Acchl HPlicrEl BT efRcdIvT sTUcIRI el aife

®Rol (R) : ®EEIRI 3R forTpI3il @ FdIosll 3R TRl I Bl WAl Reuferil &I usare 31 368 Ual ol aifde fSrerdl s MUf3I Agraygyuf Adelt
DI Slol B AD 3R Ios Tolle 1M AD

SWRITD Dol D 3Mrelld #, ofld 18w 31w farapedl 3 3 AT IUuPTD IR DI TRIol HIfSIE ©

[Question ID = 1638][Question Description = S2_qSNz_PG_LBW_Q90]
1. Both A and R are correct and R is the correct explanation of A/(A) iz (R) grail 2@t 8 3l (R), (A) 6t 4 e 8



[Option ID = 6549]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) cleil 3 @ w3sq (R), (A) 6t At e ot
[Option ID = 6550]

3. Alis correct but R is not correct/(A) 3@ & uzeq (R) @t oiét &

[Option ID = 6551]
4. Ais not correct but R is correct/(A) &t aidt 8 udsg (R) &t 8

[Option ID = 6552]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) sfiz (R) el 3@t & 3z (R), (A) 6l 38 e 3
[Option ID = 6549]

Topic:- LabourWelfare_SHAAN_NOV21B

1) Read the passage carefully and answer question:

Following the latest trends and being fashionable is the ‘in thing' these days. This fad is not only prevalent in clothes,
accessories, home decor and every conceivable thing, but also in attitudes and behaviours. These days being rude, loud,
intolerant, and aggressive is 'COOL'. Anyone who is quiet, polite and keeps a low profile is labelled a sissy, simple and
regressive.

Increasingly, the world is becoming 'I' centric. Everyone believes and follows the principle of 'ME' and 'MYSELF' above 'YOU'
and YOURS'. Checking the phone repeatedly when in company, not listening to others, interrupting a conversation, talking
loudly on the phone in a public place, parking the car in the middle of the road and being unmindful of the traffic chaos,
being nasty on social media, aggression on the road is all a part of normal behaviour these days.

A 2013 survey found that as social media usage surged over the years, it has given rise to increasing cases of incivility; with
78 per cent of 2698 people reporting an increase in rudeness online. Social media has brought about an increase in bad
manners and loss of courtesies, decency and etiquette in society. Perhaps, it is easier to be mean, and rude when one is
not in a face to face interaction with somebody. Sadly, appaling behaviour, intolerant views, a good dose of abuse,
aggression and expletives thrown in, have become fodder for the soul.

forgatferRaa srerior ol earegde ug 3R ofid fRu a1w ygotr &1 3= 3 ¢

31efGIIeTol Ygferil Wb 3eIRIRT Bl 3R BIIGICT BNoll TSIl Jgd If2ID dctol 3 & AT Aol Ddcl BUSI, JUDBWI 3= JJaAsal izl arqsii as
3 20 oidl 8, afew smerur 3iik caasR 3 off foeard usdl 3 smerdd 3sifdree, 3R19 3RIGGI9fC 3iIR AT BNt DY "doel” AlGI ST & A PIE
o1id, forse 3iiz 38 D= ol drel 3, Al A clIdT oIGAD, HITI - HIcH 3R ST Dad &

fora @1 "A'uz BIRA Sloll Todr ST W 3 32 B "FA' 3R "I D Rigia I freart ! oen 3 sl 33 "smudhl” iR s A e T Jar
3 ciPll @ dia Jo®:2 IR -aR Bl ¢3dd 8o, GIRI DI dIdl UR &IT6T of Soll, dIadid ® &ia cud USell, ATdSIord Felel U2 Blol UR Sk - Sk A
I Bell, i ASD UR ST TSI B2 Soll 3R BelraeU alol dicil ¢fib IRIAel U= &Tel of Soll, H9rel RIS ur il *Iasr 2ol iz

ASDH UR MBRIDAI fSMretr - o1 Asht DI eIl ATATGT RIAEIR TSIl STl &

2013 @ v Id 3 urH 3R b SR - S s o aul 3 Alera AifSneT GBI a6dr s 3, 3ifdrsedr ol aceld deeil o5 8 2698 el 31 78
gferera of aari 5 siforerrsar srfdreear & gfig g8 & aAtorer i A sifdree smervr & gfy 58 3 3l AT A 9gan, forsear iR SR &1 ey Bar
Il 361 3 S 311U U G @ 31l - ATIHO! oIl BT 3, I AIT: offer, I 3l 3ifdree Bol D R 3 g3 &I aId Az 3 b IRpia o
are 3ERYI, 3RTsIoflel Ak, TMEIs & 3R snferll &l dIvR e &bl IRIG 31 31 &

In order to be fashionable and cool these days, one has to be:

3IrSIbel " Herolgel” 32 "del” Blol @ A1 cufRp @I Elell USdr 3 :

[Question ID = 1639][Question Description = S2_qSNz_PG_LBW_Q91]
1. Dressed in latest fashion/sieirdol Bolel & DUS UssIol dleTl

[Option ID = 6553]
2. Intolerant, ill-mannered and aggressive/srigotoficidr, acicid 3ii? SwEHD

[Option ID = 6556]
3. Knowledgeable/sioimR

[Option ID = 6554]
4. Funny and friendly/sreigui siiz eyt

[Option ID = 6555]

Correct Answer :-

® Dressed in latest fashion/sigolidor Horel & DUS Usolol dIcll
[Option ID = 6553]

2) Read the passage carefully and answer question:



Following the latest trends and being fashionable is the 'in thing' these days. This fad is not only prevalent in clothes,
accessories, home decor and every conceivable thing, but also in attitudes and behaviours. These days being rude, loud,
intolerant, and aggressive is 'COOL'. Anyone who is quiet, polite and keeps a low profile is labelled a sissy, simple and
regressive.

Increasingly, the world is becoming 'I' centric. Everyone believes and follows the principle of ‘ME' and ‘"MYSELF' above 'YOU'
and YOURS'. Checking the phone repeatedly when in company, not listening to others, interrupting a conversation, talking
loudly on the phone in a public place, parking the car in the middle of the road and being unmindful of the traffic chaos,
being nasty on social media, aggression on the road is all a part of normal behaviour these days.

A 2013 survey found that as social media usage surged over the years, it has given rise to increasing cases of incivility; with
78 per cent of 2698 people reporting an increase in rudeness online. Social media has brought about an increase in bad
manners and loss of courtesies, decency and etiquette in society. Perhaps, it is easier to be mean, and rude when one is
not in a face to face interaction with somebody. Sadly, appaling behaviour, intolerant views, a good dose of abuse,
aggression and expletives thrown in, have become fodder for the soul.

forgotfcii¥aa srenor ol eArolgde ug 3iiR il fSu 1w ygel @I 3R ¢ @

31¢folIcol Ygftril aT 3e[ARUT Il 3R BT Bloll ISIhdd agd 32 dclel 3 & A6 Aol D DUSI, IUDVIl 3R &Sl SiAl arqsil as
3 2Mifdra ordl 3, afed srrRur 3R IasR 3 o fxars usdl @ simsraa 31fdrse, 3R19A 3RTEsIMC 3R ATMIIHD Blol DI "Dl A6 Sl & Al DI
orid, foree 3iiz AT B2 @l aret 3, Al I AT oIYAD, Sl - I iR Pt Bodd

farq @1 "FH'ur BIRA Bloll agdr SIr W 3 &2 BIE "PA 3R "I D Rigia 9 freart a0 aen 3 3z 3A "smudl” 3l "smud” A e weTa Jar
2 ol @ dila Jod2 ar -aR Bl S Woll, GRI DI dIdl UR &ATol of Soll, diddld @ di cud Usoll, ArdsIfold FeIrel UR Blol WR SRk - Sk A
SITAIA B6ll, did ASD U= SMMST WS B2 Soll 3R Belraeu alol dicil Sfbd SIRIav-ell Uz €16l of Soll, M9rel B33 uz it *Iasr e i

ISP UR AHIADBAI fT6I - Fof il DY MISIdb Ao RIABR TSIl SIIAT 3

2013 @& v Ad 3 urn SR 6 SR - SR fisa o adl 3 Ml AT gAeT aedr sri 3, sifdrsedr & acord aeedl s & 2698 il 3 78
gferord of adrn & sifercnsar sifdresear 3 gig 33 & Alerar AifSr A 31fdree sirRvT 3 gl 33 3 3iik JAST A Hgal, forsedrn iR ASEIR @I v siar
ST 361 &SI 301U Uh g3 @ 33l - Aol o1l 31 3, I Astad: offar, it 3iiz 3ifdrse BYom 3iferp s=arel 3 g &t a1 a6 3 b srpiia oo
dIell ERYI, 3RIG6Ifel HIa, MpmeIe 33 3iiR snferil &t divR sircar & IRI® 3l 9 &

We are becoming increasingly rude because:

BATS 3IfOrscdr agdl Sir 3Bt 3 arilfp ¢

[Question ID = 1640][Question Description = S2_qSNz_PG_LBW_Q92]
1. We like being rude/sdi sifdree dloll wic &

[Option ID = 6557]

2. Social media encourages such behaviour/leret fBifS=1r B3 3iraRvr @I dG@I AT &
[Option ID = 6558]

3. We are subjected to modern day stresses/ s 3mgford o1 @ dold A 3R Bk &

[Option ID = 6559]
4. We are not concerned about others' feelings/a# gzl &t siaonsii &t uzars ot

[Option ID = 6560]

Correct Answer :-
e We like being rude/sdt sifdree 2ol uzic 3
[Option ID = 6557]

3) Read the passage carefully and answer question:

Following the latest trends and being fashionable is the 'in thing' these days. This fad is not only prevalent in clothes,
accessories, home decor and every conceivable thing, but also in attitudes and behaviours. These days being rude, loud,
intolerant, and aggressive is 'COOL'. Anyone who is quiet, polite and keeps a low profile is labelled a sissy, simple and
regressive.

Increasingly, the world is becoming 'I' centric. Everyone believes and follows the principle of ‘ME' and ‘"MYSELF" above 'YOU'
and YOURS'. Checking the phone repeatedly when in company, not listening to others, interrupting a conversation, talking
loudly on the phone in a public place, parking the car in the middle of the road and being unmindful of the traffic chaos,
being nasty on social media, aggression on the road is all a part of normal behaviour these days.

A 2013 survey found that as social media usage surged over the years, it has given rise to increasing cases of incivility; with
78 per cent of 2698 people reporting an increase in rudeness online. Social media has brought about an increase in bad
manners and loss of courtesies, decency and etiquette in society. Perhaps, it is easier to be mean, and rude when one is
not in a face to face interaction with somebody. Sadly, appaling behaviour, intolerant views, a good dose of abuse,
aggression and expletives thrown in, have become fodder for the soul.

forsaiferRaa srerior @l earogde ug 3ii= off U 1w yget o1 3 § @



31¢folTcel YgftrRil ol 3e[RARUT il 3R BroIecT Bloll ISiahdl dgd 3If2em dclel 3 & AUs Aol ddcl DUSI, IUDVIl 3R IeAssl SiAl arqsil as
3 2Mif¥a ordl 3, afed 3R 3R caasr 3 off Sz usdl 3 smeIde sifdrse, 3RI%A 3RTGoI9fC 3R TMPI® Blol B! "del” ATl SIIeI 3 Al DI
orid, forse 3ii? AGH B2 @l arel 3, Al I AT oIYAD, Sl - I iR RSt Boad

fara @1 "FH'ur BIRA Bloll Ggdr ST W 3 &2 BIE "FA 3R "I D Rigia 9 frart a0t aen 3 3k 3 "smudhl” i "smud” A ifere weTa Jar
2 ol @ dla Jod2 arR -aR Bl S Woll, SRl DI Il UR &ATol of Soll, dIddld @ di cud Usoll, ArdsIford FeIrel UR Blol WR SRR - Sk A
ST Boll, dia ASD U= SMMST TS B2 Soll 3R BelrdeU alol dicll ¢l SIRIa-ell Uz €16l of Soll, W9rel 33 uz it RIasr ool iz

ISP WR AMEIDAI [GAr6ll - gol Asfl DI MSTdel AT RGBSR Aol ST &

2013 & s wd 3 urn sru 5 S - SIRY fed o qut 8@ Alera M3 yrier agar sk 3, sifdrsedr &t #cond aedl o8 3 2698 cisil 3 78
YieIord of adrn & siforcisal sifdreear 3 gig 38 & Alerer AfSr A 31fdree sirRvI 3 gl 33 3 3iik JAST A Hgal, fOrsedr 3R AR @I v sidar
SIT 361 &SI 301U U g3 @ 33l - Aol o1l 31 3, I Astad: offa, iftRr 3iiz 3ifdrse BYon 3iferap sm=arel 3 g &l a1 &6 3 b srpia oo
are 3R, 3RTsoIoflel Ak, MEIs A 3R snferil &I divR sncar B IRI® 31 o1 &

What is NOT included in identification of a low profile individual?

UGHA D2 3ol A1l cAfepil DI ufyarRr forgetferRac 3t A bR o1l &= siremr 3 ?

[Question ID = 1641][Question Description = S2_qSNz_PG_LBW_Q93]
1. Regressive/fugst

[Option ID = 6561]
2. Sissy/ogAd

[Option ID = 6562]
3. Attractive/snotda

[Option ID = 6563]
4. Simple/sier - sirem

[Option ID = 6564]

Correct Answer :-
® Regressive/fugst
[Option ID = 6561]

4) Read the passage carefully and answer question:

Following the latest trends and being fashionable is the 'in thing' these days. This fad is not only prevalent in clothes,
accessories, home decor and every conceivable thing, but also in attitudes and behaviours. These days being rude, loud,
intolerant, and aggressive is 'COOL'. Anyone who is quiet, polite and keeps a low profile is labelled a sissy, simple and
regressive.

Increasingly, the world is becoming 'I' centric. Everyone believes and follows the principle of ‘ME' and ‘MYSELF" above 'YOU'
and YOURS'. Checking the phone repeatedly when in company, not listening to others, interrupting a conversation, talking
loudly on the phone in a public place, parking the car in the middle of the road and being unmindful of the traffic chaos,
being nasty on social media, aggression on the road is all a part of normal behaviour these days.

A 2013 survey found that as social media usage surged over the years, it has given rise to increasing cases of incivility; with
78 per cent of 2698 people reporting an increase in rudeness online. Social media has brought about an increase in bad
manners and loss of courtesies, decency and etiquette in society. Perhaps, it is easier to be mean, and rude when one is
not in a face to face interaction with somebody. Sadly, appaling behaviour, intolerant views, a good dose of abuse,
aggression and expletives thrown in, have become fodder for the soul.

forsaiferRae srerior @l earogde ug 3iiR ofi U 31w yget o1 3a § ¢

31¢folIeiol YgferRIl BT [e[ARVT Pl 3R BlGIEcl Bloll ISIbdl dgd 32D <Iclol 3 & AUs Aol DAl DUSI, IUDWII 3R 3fEAssll SiAl arq3il ap
3 2Mifdra ordl 3, afcd 3rreRur 3k =IasR 3 off fars usdl @ simsraa 31fdrse, 3R19A 3RTEaI9fE 3R ATAIHD Blol DI "Gl TG Sl & Al DI
orid, forse 3fiz B B2 @Ol drell 3, Al A IdT oIYAD, HIcl - IeH AR BT DBad &

farq @1 "FH'ur BIZA Bloll agar I @I 3 &2 BIE "PA 3R "W D Rigia 9 freart a0t aen 3 3z 3A "smudl” 3l "smud” A e deTa Sar
2 ol @ dla Jod2 arR -aR Bl S Woll, SRI Bl daIdl UR &ATel of Soll, diddid @ i cud usoll, Ardsiford FeIrel UR Biel UR SRk - Sk A
SITAd D6, da ASD U= ST WS B2 Soll 3R BelFaeu gl dicil Shbd SIRIavelr Uz €16l of Soll, More 33 uz iR *Iasr e iz

ISP U3 MBIADGAI fGHT6Ir - Fof shl DY SIdb AT RIASR TSIl SIIAT 3

2013 & vep ud 3 urn or1 5 S - SiA fed o audl #@ Alerd Mf3aret giet agar sri 3, ifdrsedr &t #cond aedl o1 3 2698 cisil 3 78
yfererd of aari {5 sifotersar srfdreear & gig 3§ 3 aAtorer #Mif3am A sifdree smervr 3 gfy 55 3 ofik AT 2 9igan, forsear iR ASFR &I eu Bier
SIT 361 &SI 31U U G @ 3130l - Aol o1l ld 3, ol Jad: offer, SiftRr 3iiz sifdree Bl 3ifiras 3iRIrel 3 g &l ard as 3 6 srnila wo
dIeT TRV, 3RIGoI9fel HId, eI 33 3iIR snferil &t divR sircar & IRI® 8l 9 &

What is NOT considered as a part of normal behaviour these days?



3irsicbd forgotferRaa 3 31 fbam! ARIca ®Iask @1 331 o168l atron sirar 8 ?

[Question ID = 1642][Question Description = S2_qSNz_PG_LBW_Q94]
1. Following the traffic rules/ftbe formil @1 urctol Wl

[Option ID = 6565]

2. Talking loudly over phone in public place/zndsifors Femer B2 Wiol W2 SR - Sl A dldia don
[Option ID = 6566]

3. Being nasty on social media/3horet B30 w2 3iftRI RMAER Dol

[Option ID = 6567]
4. Not listening to others/gzRI &t ardi w €t of Jolt

[Option ID = 6568]

Correct Answer :-
e Following the traffic rules/Zftba forwel @1 Urctor dol

[Option ID = 6565]

5) Read the passage carefully and answer question:

Following the latest trends and being fashionable is the 'in thing' these days. This fad is not only prevalent in clothes,
accessories, home decor and every conceivable thing, but also in attitudes and behaviours. These days being rude, loud,
intolerant, and aggressive is 'COOL'. Anyone who is quiet, polite and keeps a low profile is labelled a sissy, simple and
regressive.

Increasingly, the world is becoming 'I' centric. Everyone believes and follows the principle of ‘ME' and ‘"MYSELF" above 'YOU'
and YOURS'. Checking the phone repeatedly when in company, not listening to others, interrupting a conversation, talking
loudly on the phone in a public place, parking the car in the middle of the road and being unmindful of the traffic chaos,
being nasty on social media, aggression on the road is all a part of normal behaviour these days.

A 2013 survey found that as social media usage surged over the years, it has given rise to increasing cases of incivility; with
78 per cent of 2698 people reporting an increase in rudeness online. Social media has brought about an increase in bad
manners and loss of courtesies, decency and etiquette in society. Perhaps, it is easier to be mean, and rude when one is
not in a face to face interaction with somebody. Sadly, appaling behaviour, intolerant views, a good dose of abuse,
aggression and expletives thrown in, have become fodder for the soul.

forsciferRae srerior @l earogde ug 3iiR oii U 31w ypet o1 3w § @

31efolIciol YgitrIl BT 3[e[ARVT Pl 3R BrGIEcT Bloll ISIbel dgd 32U <Iclol 3 & AUB Aol DAl DUSI, IUDWII 3R 3fEAssll SiAl arq3ii ap
3 Mifdra ordl 3, afed 3irRur 3R IasR 3 off fars usdl @ sisIaa 31fdrse, 3R19A 3RTEaIMC 3R ATMIIHD Blol DI "Gl A6 Sl & Al DI
orid, foree 3iiz AT B2 ol aret 3, Al IA AT oIYAD, Il - Il AR RrPsT Tad

farq @1 "FH'ur BIRA Bloll Tgdr ST @I 3 &2 BIE "FA 3R "W D Rigia 9 frart a0 aen 3 3z 3A "smudl” i "smud” A e weTa Sar
2 ol @ dla Jod2 drR -aR Bl S Woll, ¢RI DI dIdl UR &ATol of oll, diddid @ i cud Usoll, Ardsifold FeIrel UR Blol WR SRk - Sk A
I B, did ASD U= ST TSI B2 Soll 3R BelraeU alol dicil Sfbd SIRIazelr Uz €16l of Soll, MoreT 33 uz it *Iasr a2 iz

ASD U3 MBIADGAI fGT6I - Fof sl DY MSIdbel AT RIASR TSIl SITAT 3

2013 @& v Ad 3 urn SR 5 SR - SR e o adl 3 Ml ATt et aedr sri 3, sifdrsedr &l acord aeedl s & 2698 il 3 78
gferord of aar o siforetrsot srfdrecar 3 gl g¢ 3 Alerar Aifs=am A sifdrse sirarvn 3 giy g8 3 siik JaArST A s1gar, fAreedr siiR ISR @I ola lar
SIT 261 &SI 31U U G @ 3130l - Ao o1l ald 3, ol Jae: offe, SiftRr 3ii= sifdree Bl 3if2re 3iRIrel 3 g &Y ard as 3 & srniia mo
Il IRV, 3RIG6I9fel HIa, eI 33 3iiR snferil &bt divR sicar & IRI® 3l 9K &

When is it easier to be nasty?
3ift Bol @a 32 RIE & ?

[Question ID = 1643][Question Description = S2_qSNz_PG_LBW_Q95]
1. When one meets the other person/sm =ifep fepft G cafp 3 frerar &

[Option ID = 6569]
2. When one is not face to face/sa ifep 3imetor - @il oldt Blcr &

[Option ID = 6570]
3. When one talks in a group/sS <iftp 2195g 3 a1 @r &

[Option ID = 6571]
4. When one is in a public place/s@ Sifth Jrdsifoles eitel U2 3l &

[Option ID = 6572]

Correct Answer :-

e When one meets the other person/sm wafp fpaft R =ifep 31 frerr &
[Option ID = 6569]



Topic:- LabourWelfare_SHAAN_NOV21C

1) Read the passage carefully and answer questions that follow

‘Chanakya Neeti' is synonymous with efficient statecraft around the world, and Chanakya is India's face of political statecraft
and the rich political understanding of its ancient heritage. No political efficiency is devoid of understanding Chanakya and
his ways of statecraft. In fact, he showed the world that political theory is in practice. Ancient Indian history is incomplete
without a reference to his ways of statecraft and politics.

Chanakya amazes any scholar with his multifaceted character, but it had a distinct focused aim. He was more about
philosophy and thoughts put into action. He does not bore you with his philosophical theory but engages you to think, act
and achieve what you dream of. He overthrew a mighty empire and put in the throne a humble man like Chandragupta
Maurya. He identified the potential ruler from a group of children, thus gave the world a great sovereign who united the
Indian subcontinent into a political and administrative unit.

For sure, Chanakya's mental capabilities were superb. The modern global diplomacy revolves around his principle of 'saam,
daam, dand, bhed' (persuade, purchase/set a price upon, punish, exploit the weakness). His Arthashastra elevates the
state to a position where service to it entails imperatives unknown to morality. Chanakya would have been identified as a
professor of political science and economics at Takshshila. He was an economic, political and royal adviser and a think tank,
and can be credited to have given India its complex united empire.

forgatferRaa srerior ol earegde ug 3R ofld fGu a1w geoill & 3= 3 ¢

"aTaRIGfer frasr i JASHET ARTeIBdI Bl URIRI 3 3R AIVIGRT HIRA @ ISIRferd 9mRTerdIet iR 3l Yrefiol srar @ J= gular 3 fopfl yor
&l ISTolifcIes PRIGIICIAT AUIGRI eIl Joldl IRIGIDAl DI I3 eIl Id ofdl 3 ardd #, Iosldl fira ol AsHlicae Rigidl @I gler ma
fRcmen  grefier sl sfererRT Sorchl oNReTanell Ud ASTofer® 33T - P51 D AooH @ frem srguf 3

amra el oft Pdrenfic ot sruct agsrRmen aif¥fiw fadruarsii A afea o= 3a 3, ureg YyA® oI fafdrese afdra s2oa e d yrRi: gofol wd frart
DI DRI U Jol D ugieRr 4 d 31Ul giofford RIgidl A MU JaIed oidl 3, 3fUq Ul Aldel, fpzmefier dotol e 3Uel AU DI AIPR B D
fore Qfva @2 3 3odiol Ud ISIYA AR DI oS A IXTS BDI 313 Toga Al S b ARG FIRD Bl ISHRT U [oR 3oslel acll & AYE
31 A TP Aol 9IRID Bl usdrel &l i 3R 3 YR fda ol v FHalel AYY AcE, G 16l AYui HRedRI IussISiu &l soiifie ud
YoIRIford b @ U 3 g e

forf2rasu A1 avraRr &t AeIlRe sErand spjayd off sngyfore dffam pediifer Sad Rigia wme, oM, s, 3¢ (3elorI, o - faaR/ Jca
foreriau1, <3S, PISiR DI 9NYUI) @ A -URT ggIcll 3 IoldT 32foIq e, DI A HdArE ad ol Sl 3 SIaf ATE, DI AT oiferapdr bl raeisii A u
JTGIl ST & TAUTCRI <l AgIforet 31 Istofifer forstret siie srefone< @ ARt @ »u 3 Sifel Sesn d Uh srefon+fl, Asiciferd 3R IMRIDRI AcTeDdR
aen v Riae ¥, e vrRa @ uw sifed uhblapd AR Foliol @I IR & S Jmar 3

'‘Chanakya Neeti' is:
‘amraRIehfr 3 :

[Question ID = 1644][Question Description = S2_qSNz_PG_LBW_Q96]
An individual/ve =1fep (=i1fte) [Option ID = 6573]

A political treatise/v® sl sfer [Option ID = 6574]

. A philosophy/w® gofar [Option ID = 6575]

A complex way of thinking/u® Sifee Ridet fafér [Option ID = 6576]

A w N =

Correct Answer :-
® An individual/v® =ifep (cafte) [Option ID = 6573]

2) Read the passage carefully and answer questions that follow

'‘Chanakya Neeti' is synonymous with efficient statecraft around the world, and Chanakya is India's face of political statecraft
and the rich political understanding of its ancient heritage. No political efficiency is devoid of understanding Chanakya and
his ways of statecraft. In fact, he showed the world that political theory is in practice. Ancient Indian history is incomplete
without a reference to his ways of statecraft and politics.

Chanakya amazes any scholar with his multifaceted character, but it had a distinct focused aim. He was more about
philosophy and thoughts put into action. He does not bore you with his philosophical theory but engages you to think, act
and achieve what you dream of. He overthrew a mighty empire and put in the throne a humble man like Chandragupta
Maurya. He identified the potential ruler from a group of children, thus gave the world a great sovereign who united the
Indian subcontinent into a political and administrative unit.

For sure, Chanakya's mental capabilities were superb. The modern global diplomacy revolves around his principle of 'saam,
daam, dand, bhed' (persuade, purchase/set a price upon, punish, exploit the weakness). His Arthashastra elevates the
state to a position where service to it entails imperatives unknown to morality. Chanakya would have been identified as a
professor of political science and economics at Takshshila. He was an economic, political and royal adviser and a think tank,
and can be credited to have given India its complex united empire.



forgotferRaa srerior @l earegde ug 3R ofld fRu a1w geoil & 3a= 3 ¢

"areRIGiifer frasr 3 A IRTeIdd BT URIR 3 3R AVl HIRA @ Islolifere orRIsipIe 3R $AD] Yrellol ARMAT & JxXR Yyoiar & et gy
&bl ISTolifcIs DRIGIICIAT AIVIGRI eIl Ioldl IRIGIDCI DI I fofell Ivd ofdl 3 ardd #, Iosldl fora ol IsHlfcre Rigidl @I ger miad
Rcmen  greior s sferarRT So1chl 9IReIabelr Ud ASTolferd 3T - P51 D oo D frem srguf 3

ot =l oft Pdrenfac ot sruct agsmrRIEh aif¥fow fadruarsii A afea o2 3a 3, ureg YD o1 fafdree afdra s2oa em a yrI: gofor wd feramt
@l PRI U 3ol D ugier A 4 31yl sreffore Rigidl A smam) Iard o1&l 8, 3iftrg smuen! AHldol, foprmeficr dotol a2 g6l A6l Pl ATPR Dol D
fero Qf¥a w2 & Iodiol T ST AR DI SIS A IWMS Bl IR Aol AR SI U AN RIfTh Pl ASPRT R [RORN  Ioalal acdl @ e
3 3 v grAdIarel 9IRID Dl ussiiel Dl i 3iik 331 YR fara ol uop d1slel Y IAUve, &1 [Brtel AQui HRedl SudsISia &I Asoiifdae ud
YoIRafor® s @ U 3 Jgdg foar

forfarasu A amvra=r &t AeIlRe sErand spjayd off sneyfors dffam gedfifer Sad Rigia wml, om, 33, 3¢ (3elorI, oJ - faaa/ Jca
forerizvu1, 63, DSl DI AYUI) @5 3RT -URI YJcil 8 IoIdI '3Lf9IR A, DI IA HATS b of SIIAI & ST8l A, <Dl AT olferapar bl rugiaii A
JTGIT SIIAT & TMUTCRI <Y AgIoret 3t Istofifer farsiret sz srefonz< @ iRt @ Hu 3 Sifel Susn d Uh 3refon+l, Isioliferd MR IMRIDRI AcTEDR
aen v Riae 9, Ked Mra @I uw sifed uhblapd ARSI Follol @I IR & s JImdar 3

Chanakya amazes scholars because of:
amvrae fdrgnfact oI fdpor wrvll A afdsa w2 A 2 -

[Question ID = 1645][Question Description = S2_qSNz_PG_LBW_Q97]

. His character/smor afsq 3 [Option ID = 6577]

His focused aim/smwor @fgia 39 3 [Option ID = 6578]

Boring political philosophy/3arss usteiifeid gofall 31 [Option ID = 6579]

Ability to get people to think, act and achieve their dreams/cisii @I 3idol, PRl @0l 3l 3ol sl DI YA B0l bI §HIAT Yglel Bl A [Option ID = 6580]

AW N =

Correct Answer :-
e His character/smor af¥q 3 [Option ID = 6577]

3) Read the passage carefully and answer questions that follow

'‘Chanakya Neeti' is synonymous with efficient statecraft around the world, and Chanakya is India’s face of political statecraft
and the rich political understanding of its ancient heritage. No political efficiency is devoid of understanding Chanakya and
his ways of statecraft. In fact, he showed the world that political theory is in practice. Ancient Indian history is incomplete
without a reference to his ways of statecraft and politics.

Chanakya amazes any scholar with his multifaceted character, but it had a distinct focused aim. He was more about
philosophy and thoughts put into action. He does not bore you with his philosophical theory but engages you to think, act
and achieve what you dream of. He overthrew a mighty empire and put in the throne a humble man like Chandragupta
Maurya. He identified the potential ruler from a group of children, thus gave the world a great sovereign who united the
Indian subcontinent into a political and administrative unit.

For sure, Chanakya's mental capabilities were superb. The modern global diplomacy revolves around his principle of ‘saam,
daam, dand, bhed' (persuade, purchase/set a price upon, punish, exploit the weakness). His Arthashastra elevates the
state to a position where service to it entails imperatives unknown to morality. Chanakya would have been identified as a
professor of political science and economics at Takshshila. He was an economic, political and royal adviser and a think tank,
and can be credited to have given India its complex united empire.

forgatfeilRaa srerior ol earegde ug 3z ofld fGu s1w gesli H 3= 3 ¢

"TVIRIGHT @R 3 AL IRIeIddl DT URIRI 3 3R IIVIRI HRA D sl IRIsIPIe iR 3AD] greliol ARAT D JxR yuiar 3 il gor
bl ISToliicIs DRIGIICIAT IAMUICGRI T2l Joll IRIGId Il DI A3 fdell IHd ofdl 3 ard d#, ool fard ol ASHliad Rigidl @I ger mad
fSxcmn  greiiel $iRedi SfeieRT o1l IRIGIell Ud IASTolifcrd 3T - 31 D Hogs! @ ferew 3rgui 3

amoraR] ool oft forenfas ol srucl ag3rIRi aifsfim fadiuarsii A afdba a2 $d 8, WRoeg YA oI fafdrse afda 3g9u o1 d Yrr: gofdl ud @Rt
DI DRI U ol D ugieR 4 d 3ol gI9iford RIgidl A MU 34K ofdl 3, iU UD! Aldel, fapRm9fier gofol e U6l AUGI DI ATPR Dl D
fere Qfva @2 ¥ 3odiol U FSIYA ARSI DI oS A IXTS BT 313 Toga AR SIA U Ao RIRp DI IGHRI R foRn 3oslol acdll & AYE
3 3 v graAdrarel 9RIDP Dl Usdrel &I 2t iz 331 YR fira ol v 1slol Yy g, &1 Rrtel Agut siRedla Sudsrdla &l reoifie ud
YoIRIford S @ U 3 JYgag o

forfaasu A amra &l AeilRIe sraad spyayd off sngyfre dffam qeslifa Sad Rigia e, 6, 33, A6 (3edor], Tl - g/ dca
foreriau1, S5, PaHSIR DI 9NYUI) O MR -URT ggIcll 3 IoIdT RN Ieg, I A SIS P of Sl 3 SIal ATE, DI AT oiferapar bl sraeisii 3 U
JTGIT SIIAT & TATUICRT I AgIfore 3 Irstofifer firstrot sz srefon< @ simart @ »u 3 Sirel sesn d v srefonl, ISiolifrd 317 9MAbRI AcTeDdR
a2 v Riae A, 5168 $IRA DI b SifeeT Uiy AYISA dollol I A ST ST ADdr 3

In Arthashastra, Chanakya places the interest of the state:

‘sreforre< J avTaR U D Bl Bl Rad B -
[Question ID = 1646][Question Description = S2_qSNz_PG_LBW_Q98]



Below moral responsibility/siferd giffiea 3 offa [Option ID = 6581]

At par with moral responsibility/3ifere gifrca @ 3wt [Option ID = 6582]

Above any moral responsibility /=it sifer® a1Riea A uz [Option ID = 6583]

The state has nothing to do with moral responsibility/2mg @1 diferd giftica 2 @I 2RI®wR oidl 8 [Option ID = 6584]

A W N -

Correct Answer :-
e Below moral responsibility/siferd giffiea 3 offa [Option ID = 6581]

4) Read the passage carefully and answer questions that follow

'‘Chanakya Neeti' is synonymous with efficient statecraft around the world, and Chanakya is India's face of political statecraft
and the rich political understanding of its ancient heritage. No political efficiency is devoid of understanding Chanakya and
his ways of statecraft. In fact, he showed the world that political theory is in practice. Ancient Indian history is incomplete
without a reference to his ways of statecraft and politics.

Chanakya amazes any scholar with his multifaceted character, but it had a distinct focused aim. He was more about
philosophy and thoughts put into action. He does not bore you with his philosophical theory but engages you to think, act
and achieve what you dream of. He overthrew a mighty empire and put in the throne a humble man like Chandragupta
Maurya. He identified the potential ruler from a group of children, thus gave the world a great sovereign who united the
Indian subcontinent into a political and administrative unit.

For sure, Chanakya's mental capabilities were superb. The modern global diplomacy revolves around his principle of 'saam,
daam, dand, bhed' (persuade, purchase/set a price upon, punish, exploit the weakness). His Arthashastra elevates the
state to a position where service to it entails imperatives unknown to morality. Chanakya would have been identified as a
professor of political science and economics at Takshshila. He was an economic, political and royal adviser and a think tank,
and can be credited to have given India its complex united empire.

forgotferRaa srerior ol earegde ug 3R ofid fRu a1w geoll & 3= 3 ¢

"amTaRIGfer frasr i JASHET ARTeIBdI BT URIRI 3 3R AIVIGRT HIRA @ ISINferd 9mRTerdIet iR 3 Yrefiol 9rar & FR guiar 3 fopfl yor
&l ISTolifeId DRIGIICIAT TAUIGRI eIl Joldl IRIGIbAl DI I3 eIl Id ofdl 3 ardd #, ool fara ol AsHlfae Rigidl oI ger ma
fcmen  grefior e sferaRT Sorchl oIRTeTIaenl Td ASTolier® I3 - P51 D AooH @ frem srguf 3

ot el oft Pdrenfae ot sruct agsmrReEh aif¥fiw fadruarsii A afea o= 3a 3, useg Y@ oI fafdrese afdra sToa e d yrRi: gofor wd frart
DI DRI U Sol D ugieRr 4 d 31Ul giofford RIgidl A MU Jared oidl 3, 3IfUq Ul i, fpmefier dotol de 3Iuel AUl DI AIPR B D
fere Qfva w2 ¥ 3odiol U ISIYA ARG DI oS A IXTS BDI 313 Toga Al S U ARG FIRP B ISHR] U [Aorn 3oslel gl & AYE
31 A U Aol 9RID Bl usdrel &l i 3R 3 YR fda &l v Halol WYY AT, 61 BRIl AYui HRdRI IussISiu &l AUsoifie ud
YoIRIford o @ U 3 Ygag e

forf2rasu A avraRr &t AeIlRe sEand spjayd off sngfore dffam pediifer Sad Rigia v, oM, s, 3< (3efor, T - faa/ Jca
foreriau1, S, PaSiR DI 9NYUI) @ A -URT ggIcll 3 IoTodT 32l 3Teg, I A JHdrE dd ol Sl 3 SIaf ATE, DI A oiferapdr bl sraeisii A u
JTGIl ST & TAUICRI DI AgIforeT 31 Istofifer forstret siie srefone< @ srart @ »u 3 Sirel Sesn 4 Uh srefon+fl, Isiciierd 3R IMRIDRI AcTsDdR
aen v Riae ¥, e vRa @ uw sifed uhlapd AR Follol @I IR & S JAmar 8

The modern day global diplomacy follows the principle of

sngfores dffam deofifer fdvel Rigidl oI refurciel w3l 3 :

[Question ID = 1647][Question Description = S2_qSNz_PG_LBW_Q99]

Reward, request, entreaty and punishment/gzs®R, 3R, sest ik gus [Option ID = 6585]

Request, cajole, threaten and persuade/smoRte, amcgfl, erdt sli2 siooriel [Option ID = 6586]

Purchase, punish, request and accept/ar - fda, &3, SRl ik sdiwriar [Option ID = 6587]
Persuasion, exploitation, punishment and purchase/sfoorI, 9iwur, G5 3iiz @t - fagr [Option ID = 6588]

A w N =

Correct Answer :-
e Reward, request, entreaty and punishment/gzs®R, 3R, s ik gus [Option ID = 6585]

5) Read the passage carefully and answer questions that follow

'‘Chanakya Neeti' is synonymous with efficient statecraft around the world, and Chanakya is India’s face of political statecraft
and the rich political understanding of its ancient heritage. No political efficiency is devoid of understanding Chanakya and
his ways of statecraft. In fact, he showed the world that political theory is in practice. Ancient Indian history is incomplete
without a reference to his ways of statecraft and politics.

Chanakya amazes any scholar with his multifaceted character, but it had a distinct focused aim. He was more about
philosophy and thoughts put into action. He does not bore you with his philosophical theory but engages you to think, act
and achieve what you dream of. He overthrew a mighty empire and put in the throne a humble man like Chandragupta
Maurya. He identified the potential ruler from a group of children, thus gave the world a great sovereign who united the
Indian subcontinent into a political and administrative unit.

For sure, Chanakya's mental capabilities were superb. The modern global diplomacy revolves around his principle of 'saam,
daam, dand, bhed' (persuade, purchase/set a price upon, punish, exploit the weakness). His Arthashastra elevates the



state to a position where service to it entails imperatives unknown to morality. Chanakya would have been identified as a
professor of political science and economics at Takshshila. He was an economic, political and royal adviser and a think tank,
and can be credited to have given India its complex united empire.

forgatferi¥aa srenor ol earogde ug 3iiz il fSu a1w ygall & 3R ¢ &

"areRIGiifer faasr 3 A IRIeIaen BT URIR 3 3R TV HIRA D ATl 9rRIoImIe 3R $AD] Yrellol AAAT B FxR Yoiar & et yoor
DI ISToilfcIs ORIGIICIAT AMVIGRI dUT oIl ARIGIDCll Pl A3 {6l Id odl 8 ar«ad 3, Ioslol [ I AsTelfcrd Rigidl oI GBI med>
fRaemen  grefior sieli=r sferaRT Jo1chl 9NRIeIabelr Ud ASToliferd 3T - 951 D Aocs D frem srguf 3

e fopedl sit Rignfac @1 srucl ag3mmeh aiffge fadraansii A afteda o2 ¢a 3, ueq YA o1 fafdrse cfdra 329 e d grr: gofor ud ferami
Dl PRI U 3ol D ugier A d 31yl creffores Rigidl A smuw Iard o1& 8, 3iftrg sl AHldol, fiprmelicr dotol de g6l AUEll Bl ATPR B0l D
fere QfYa @2 3 3odiol U FSIGM ARYISA DI oIS A IS BB 3R Toga AR S TP AR RIRP DI ISPRI R [oR 3oslol ol d A3s
3 3 v grAdrarel 9T Dl usdrel di 2t ik 331 YR fira ol v 1slol Yy g f3ar Rretel Agut vRedl Sudsidla &I rseiifie ud
goIRafor® s @ U 3 Jgdg v

forfrasu A =vraRI &l AR S1Hand spfayd off sngyfore dffawm mesiifer 3o Rigia wme, oM, 33, 3< (3elor, O - faaR/ Jca
forerizvur,Ss, DSk DI ANHUT) @ 3MRT -URI Il & IoldI '329IR]ACE, DI IA HATs b ol ST & SI8I AT, bl AT olferapdr bl rUgIaii A
JToll SIAT 3 AIVTGRI DI agiforel 3 Ustofifer fastet iR stefonzq @ ARt @ Hu 3 Siell Siesn d Ud 3reioRl, Asciiad iz ImRIbRI JcsDdR
aen v fRide A, RBed ura @l v siféd udblad ARYIs Follol ®I IR & s rmdar 3

Chanakya identified the potential ruler from among which one of the following?

AR febo1dl Ueb o1 9IIs b usdret did 3 &

[Question ID = 1648][Question Description = S2_qSNz_PG_LBW_Q100]
Politicians/msmwiifersii 3 [Option ID = 6589]

Kings/3rsmsii 3 [Option ID = 6590]

Teachers/f31grp! 3 [Option ID = 6591]

Children/azai 3 [Option ID = 6592]

A WN -

Correct Answer :-
e Politicians/erefifersit 3 [Option ID = 6589]

Topic:- 05th_SET12 Shift 2_A

1
) The following table presents the percentage (%) distribution of students of UG and PG levels

in seven different colleges (A-G) iIn a city during the academic session 2020-21. There is a
total number of 52,000 students in all colleges including 27,300 students of UG level.
Based on the data in the table. answer the question .

College — wise percentage (%) of students at

Go]lege¢ Perentage (%) of students at

UG Level PG Level

A 17% 8%

B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

How many students of colleges A and F taken together are studying at UG level?

1) 7516 (9) 8463
(3 9127 (4) 9404
FTRa Ao U WE H AT Ser- 1 qeiaareEl (A-G) HJ fEirs @ 2020-2021 ° gaeEs #Hiw

AR G % i & faar-uaea (%) wee i 21 27,300 qaEaE w6 oS Sr B At



FlF HallF=mer Al 9 Fed I s 941 52,000 & | THRG diletl 1 U89 121 & TR 9

e T HIAF
=
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
i) 14% 21%
G 15% 17%

A 7o F werferamerdi % o1 fhad franefl vh @y go - o ued 2 7

(1) 7516 (2) 8463

(3) 9127 (4) 9404
[Question ID = 2829][Question Description = Q1_GP_Set12_S1]
1.1

[Option ID = 11313]
2.2

[Option ID = 11314]
3.3

[Option ID = 11315]
4. 4

[Option ID = 11316]
Correct Answer :-
e 1

[Option ID = 11313]

The following table presents the percentage (%) distribution of students of UG and PG levels
in seven different colleges (A-G) In a city during the academic session 2020-21. There 1s a
total number of 52,000 students in all colleges including 27,300 students of UG level.

Based on the data in the table. answer the question .

College — wise percentage (%) of students at

C OHGSGL Perentage (%) of students at
UG Level PG Level
A 17% 8%
B 12% 15%
C 11% 12%
D 15% 13%
E 158% 14%
F 14% 21%
ol 15% 17%

Total number of students studying at PG level from the colleges B and C taken together is :
(1) 5601 (2) 5944
(3) 6669 (4) 77004



ATfRa ATt vk e # A@TE e - HaiameEl (A-G) § A g9 2020-2021 ° gaEas S
A= T = T faaror-ufawa (%) wea #di 2 | 27,300 gEEE® w6 S 6 gt
FF HeElenadl § el Sl i = 52,000 2 | FeAifha dferr 5 v 3@ F #@EE w '

T3 T I ST

- TR T
=
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

B @91 C Heifa=ed § Heshinr F T U 919 Ted AT [Enael i wel He #

(1) 5601 (2) 5944

(3) 6669 4) 7004
[Question ID = 2830][Question Description = Q2_GP_Set12_S1]
1. 1

[Option ID = 11317]
2.2

[Option ID = 11318]
3.3

[Option ID = 11319]
4. 4

[Option ID = 11320]
Correct Answer :-
o 1

[Option ID = 11317]

The following table presents the percentage (%) distribution of students of UG and PG levels
in seven different colleges (A-G) In a city during the academic session 2020-21. There is a
total number of 52,000 students in all colleges including 27,300 students of UG level.

Based on the data in the table. answer the question .

College — wise percentage (%) of students at

Go]lege¢ Perentage (%) of students at
UG Level PG Level
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%




What 1s the total number of Ul and PG level students 1n the college EY

(1 8320 (2) 7916

(3) 9116 (4) 8372

EAITRa AR U A H @A e - A TR (A-G) H Aaies @ 2020-2021 § qEeaE Hi
IR T o T o faeor-ufaeE (%) wea #dl 2 | 27,300 gEEEs w H 9 6 At
= WETETerl § el S ol @ 52,000 2 | FHeifwa arfer | uee 3 F HEE W '

T T I AT

HETageE ¢ ST 1 Tawradr (%)
TH-HEF | HAEE T
=
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

E =S § TR T 31 e T Fel e T 2 7

(1) 8320 2 7916
(3) 9116 (4) 8372

[Question ID = 2831][Question Description = Q3_GP_Set12_S1]
1.1

[Option ID = 11321]
2.2

[Option ID = 11322]
3.3

[Option ID = 11323]
4. 4

[Option ID = 11324]
Correct Answer :-
° 1

[Option ID = 11321]

The following table presents the percentage (%) distribution of students of UG and PG levels
in seven different colleges (A-G) in a city during the academic session 2020-21. There is a
total number of 52,000 students in all colleges including 27,300 students of UG level.

Based on the data in the table. answer the question .

College — wise percentage (%) of students at

College¢ Perentage (%) of students at
UG Level PG Level
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%




L 420 170
F 14% 21%
G 15% 17%

What is the ratio between the number of students studying at PG and UG level respectively
from the college F?

(1) 14:19 (2 19:21
@ 17:21 (4) 19:14

Fr=TRa Aifer UF WET § A -1 gEiaaeEl (A-G) O e 7 2020-2021 ° gEEEE A
AT T F it # famo-nfaeE (%) Teqa F 2| 27,300 qEEeE T % o w6 Ao
T WA 8 Fel S0 i G 52,000 2 | R Ao § TET 3R oATen W '

ErAIE EHA R ¢ T =l i (%)
qﬁ{-—Hld'-h {--llv:lutjl‘l'ﬂ. Tq7
LA L
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

F 9eiiaeier o St & W Ted O s i qe 3R g4 S S 9 TS arel e i
qE] F S HEE: HAITd T:—' :

(1) 14:19 (2y 19:21
(3) 145 21 4y 19:14

[Question ID = 2832][Question Description = Q4_GP_Set12_S1]
1.1

[Option ID = 11325]
2.2

[Option ID = 11326]
3.3

[Option ID = 11327]
4. 4

[Option ID = 11328]
Correct Answer :-
° 1

[Option ID = 11325]

The following table presents the percentage (%) distribution of students of UG and PG levels
in seven different colleges (A-G) in a city during the academic session 2020-21. There is a
total number of 52,000 students in all colleges including 27,300 students of UG level.

Based on the data in the table. answer the question .

College — wise percentage (%) of students at

College¢ Perentage (%) of students at

UG Level ‘ PG Level



A 17% 8%

B 12% 15%
C 11% 12%
D 15% 13%
E 18% 14%
F 14% 21%
G 15% 17%

What is the ratio between the number of students studying at PG level from the college F
and the number of students studying at UG level from the college D?

(1 13:19 % 2113
(3 13:8 (4 19:13
FEAifRa ATfeThT U A | A e - A HAlaaerE (A-G) | aies @ 2020-2021 § g #Hi

A= T = T faaror-ufawa (%) wea #di 2 | 27,300 gEEE® w6 S 6 gt
i HETETel § Fel Sl il @ 52,000 2 | FHeifha arfer |§ ugH 3§ A W '
T T I AT

BRI AL ¢ T 1 WA (%)
TH-HEF | EAEER T
=

A 17% 8%

B 12% 15%

C 11% 12%

D 13% 13%

E 18% 14%

i) 14% 21%

G 15% 17%
F At " Hldqn'.i_ﬂ{ T W e et Tt 1w it D Al 4 gd- s w9 ued
1)  13:19 @ 21:13
(3) 13:8 ) 19:13

[Question ID = 2833][Question Description = Q5_GP_Set12_S1]
1.1

[Option ID = 11329]
2.2

[Option ID = 11330]
3.3

[Option ID = 11331]
4. 4

[Option ID = 11332]
Correct Answer :-
° 1

[Option ID = 11329]

Topic:- 05th_SET12 Shift 2_B
) Which of these is not related to podcasting?

(1) Audio (2) Spotify

(3) Microphone (4) Microsoft excel



fe=fefiga @ 9 =i grgET o Hetad 95 27

(1)  ate (2) witeEE

(3) AEFTEEA (4) HIEHEF T
[Question ID = 2834][Question Description = Q06_GP_Set12_S1]

1.1

[Option ID = 11333]
2.2

[Option ID = 11334]
3.3

[Option ID = 11335]
4. 4

[Option ID = 11336]

Correct Answer :-

e 1
[Option ID = 11333]
Identify the examples of Active learning :
(A) Students discuss. debate or brainstorm during class
(B) Students work as team on problems and projects
(C) Students engage in inquiry based learning

(D) Students are exposed to case-based studies.

Choose the most appropriate answer from the options given below :

(1)  (A)only (2)  (A). (B) and (D) only
&) (A), (C) and (D) only (4) (A) and (D) only

fepameiied ATErTE = ISEA0n i TE=E Hira

(A)  Fen = 3 faenefi ==, fomet st fammrem w2 )

B)  TrEmefl gEEns 3 s W UE S E = 0 w5 wd F
(C)  Tornedt wita smatia =fam 4 dewe 7 7 |

D) Freft o s seEm g waEE EE

i fau o foppeal § @ weH IUgEE AT 1 =EA FfAC

1) A (A) (2) = (A), (B) #it (D)
(3) Fa4 (A), (C) 3% (D) (@) FI (A) 3 (D)

[Question ID = 2835][Question Description = Q07_GP_Set12_S1]
1. 1

[Option ID = 11337]
2.2

[Option ID = 11338]
3.3

[Option ID = 11339]
4. 4

[Option ID = 11340]
Correct Answer :-
e 1

[Option ID = 11337]

3)
According to the stages of cognitive development suggested by Piaget. the earliest period is
called as :
(1) Formal operational (2) Existential

(3) Sensori motor (4) Verbalizer



TSt gRT G0 10 ASHTEAF T o =0 % STEN ARG Hiel H HEfeigd wa 5w

(1) =i A (2) HAfeaea W=
(3 TEE WE (4) Toemey ofads (@)

[Question ID = 2836][Question Description = Q08_GP_Set12_S1]
1.1

[Option ID = 11341]
2.2

[Option ID = 11342]
3.3

[Option ID = 11343]
4. 4

[Option ID = 11344]

Correct Answer :-
e 1
[Option ID = 11341]

Given below are two statements :

Statement I: A blended course is a traditional course of instruction incorporated with
online materials and / or intermittent online discussion.

Statement IT: A wiki is not a representation of a collaborative tool and website where users
assigned In groups can create content collaboratively and where a teacher
can monitor their work.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II 1s correct

= = #9E fRw T E

#ua (I): U fafud areasd o UniE H99TE UiadwA ¢ fAEd siidensd @i i/ sAvan wiewm
F9 (I) : o UH Tehl ST 9 99ETsZ F TiaET A5 & SE GYEl ¥ A T gemn ° faw
o ST Thd 7 S S AT 3 1 i I S T E |

I HE AR H, A= 2 e el d @ weE 3w 39 = i

D Fom Iafr Mz 78 # |

() = I 3R =M 7o 2 |

(B  Fum Iwd 2, o A I ed 2 |

@) o I 7 Ty w58 2

[Question ID = 2837][Question Description = Q09_GP_Set12_S1]

1.1

[Option ID = 11345]
2.2

[Option ID = 11346]
3.3

[Option ID = 11347]
4. 4

[Option ID = 11348]

Correct Answer :-



o 1

[Option ID = 11345]

Modeling is a direct teaching activity that allows students to imitate from demonstration or
infer from observation. the behaviour to be learned. Identify the correct sequence for
modeling.

(A) Production

(B) Attention

(C) Motivation

(D) Retention

Choose the correct answer from the options given below :

(1 @A), B), (), D (2)  (B). D), @A), (©)
(3) (). (A). (D), (B) 4 (B). (A, (C). (D)

wfaEaT v UH T weA miatary 2w faened e 9 e =mmEn FioaeE g e swen vam

(A)  3fa
® ==
(C) T
(D)  wfdamE

i fau o famewi 9§ HE SR W == R

1) (A B (). D) (2) (B). (D). (A). (©)
3 (0. A). D). B 4 (B). (A (C). (D)
[Question ID = 2838][Question Description = Q10_GP_Set12_S1]
1.1

[Option ID = 11349]
2.2

[Option ID = 11350]
3.3

[Option ID = 11351]
4. 4

[Option ID = 11352]
Correct Answer :-
o 1

[Option ID = 11349]

6)
A prediction regarding ‘relationships involving theoretical constructs’ is known as :
(1) Directional hypothesis (2) Relational hypothesis
(3) Conceptual hypothesis (4) Operational hypothesis

Hgifrs Ffifa @ geyl’ % gErEE w e Ee d S S g

(1) TS Trashed (2) HEGTF TEFFA
(3)  HEhCHATIE TR (4) vETEETEH T

[Question ID = 2839][Question Description = Q11_GP_Set12_S1]
1.1



[Option ID = 11353]
2.2

[Option ID = 11354]
3.3

[Option ID = 11355]
4. 4

[Option ID = 11356]
Correct Answer :-
o 1

[Option ID = 11353]

7)
A variable not described by a predictor 1= called :
(D Exogenous variable (2) Non-Predictive variable
(3) Effect variable (4) Manipulative variable

(1)  =fEa = (2) I GEFIATHF
(3 TYE = (4) FHETE

[Question ID = 2840][Question Description = Q12_GP_Set12_S1]
1.1

[Option ID = 11357]
2.2

[Option ID = 11358]
3.3

[Option ID = 11359]
4. 4

[Option ID = 11360]
Correct Answer :-
e 1

[Option ID = 11357]

8) The ethical considerations in research include :
(A) Free copying from books and journals
(B) Informed consent
(C) Avoiding plagiarism
(D)  Proper referencing
(E) Privacy as an insignificant issue
Choose the correct answer from the options given below :
(1) (A). (B). (C) only (2) (B).(C). (D) only
(3)  (C). (D). (E) only @) (A). (D). (E) only
oy 4 AF FEE § e e #

(A)  TH T TEEE H el T

(B) I Z=Al

(C)  TnEfas A o ==
(D)  sfoa g
(E) Fea-u+ i 5% g



A= 180 T4 T==hed] § 4 Hel 397 30 =499 S0
() F== (), B). (©) 2 Fa (B). (C). D)
(3) = (C). (D). (B) (@) T (A). (D). (B)

[Question ID = 2841][Question Description = Q13_GP_Set12_S1]
1.1

[Option ID = 11361]
2.2

[Option ID = 11362]
3.3

[Option ID = 11363]
4. 4

[Option ID = 11364]

Correct Answer :-

e 1

[Option ID = 11361]

Given below are two statements :

Statement I: Reflexivity refers to the manner in which speech and action are part of the

social world in which they are situated.

Statement II: The term ‘reflexivity’ 1s a slippery concept because of For and against’

arguments. and also because of different meanings.
In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement IT is false

(4) Statement I is false but Statement I 1= true

B Rl £ B G

Fod (I):  Oiatwaerwar (Fr=fFatad) = @6a 38 fifd = 2 Ted a3 T 55 gmfas g & am

2 T 3 safEm 2
o (ID) :  “WHEIcTRa ©F [HEeE 9 HHeTT B AR THE 94 9 U 2 AW kO B AR

fa—firg o1 o 2

TUE FUA F AAE 9, i B T faEea 9 g wE 3w % = i
(1) =FRIROZAEI&EFE |

(2) v [ #AR = 58T & |

(3) ¥ 1= 2, oifed ®yd 1L A48T 2 |

(4)  wuA I 3w 2, @ #99 115 2 |

[Question ID = 2842][Question Description = Q14_GP_Set12_S1]
1. 1



[Option ID = 11365]
2.2

[Option ID = 11366]
3.3

[Option ID = 11367]
4. 4

[Option ID = 11368]
Correct Answer :-
e 1

[Option ID = 11365]

10)

Match List I with List IT ;
ListI List IT
Statistical test Application

(A) Chi- square (I) Is used to determine the significance
between group means.

(B) t—test (I) A procedure to decompose variation
into two or more Independent
variables.

(C) ANOVA (III) Analyses the relationship between two
or more independent variables and a
single dependent variable.

(D) Multiple regression (IV) Produces a walue that reflects the
relationship between expected and
observed frequencies.

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-IT), (C)-(I1L), (D)-(IV)
2 (A)-(I), (B)-(IIT). (C)-(IV), (D)-(D)
(3 (A)-11). (B)-(IV). (C)-(I). (D)-(II)
(4 (A)-IV), (B)-(D). (C)-D). (D)-(IIT)
gl-1 1 G-I & gAfed i -
7= 111
aferhim gitem ST
(A) 7% T (Chi— square) () TEF T GYE WAl % OWSA % Ancd
FuR % o, o = 2
® t¥= D fafagm | 3 T AfaF =aa 90 °§ FEiea
(C) TwHET (ANOVA) ({ID) =1 = =Afeee = =0 0 wh i = %
& % TEy w1 v e 2
(D) = T (IV) TE go9 il e Al B A efem a uiEa
+= fz2 ™ et 2 @ = e gh

(L (A)-(D), (B)-(ID), (C)-(I1I), (D)-(IV)

(2 (A)-II). (B)-(III). (C)-(IV). (D)-(T)

(3) (A)-(IID). (B)-(IV). (C)-(I). (D)-(II)

4 (A)-IV). (B)-(D). (C)-(II). (D)-(III)
[Question ID = 2843][Question Description = Q15_GP_Set12_S1]
1. 1

[Option ID = 11369]
2.2

[Option ID = 11370]
3.3

[Option ID = 11371]
4. 4



[Option ID = 11372]

Correct Answer :-

e 1

[Option ID = 11369]

‘Do not expect to have evervthing buttoned up in your mind before hand’. This 1s very much
true in the context of :

(1) Article writing (2) Delivery of speech
(3 Conducting on interview (4) Supplying background information

‘Ueet o # a19A Tamm O ot i % srgetaa =9 F ade o i |

% T wed § foee wRl B 7

(1)  Feeg e (2) A
(3)  =EERR = (4) gy gAY ST HA]

[Question ID = 2844][Question Description = Q16_GP_Set12_S1]
1.1

[Option ID = 11373]
2.2

[Option ID = 11374]
3.3

[Option ID = 11375]
4. 4

[Option ID = 11376]

Correct Answer :-

e 1

[Option ID = 11373]

A persuasion plan of an educational communicator involves :
(A) Sequencing of 1deas

(B) Repeated emphasis

(C) Choice of words

D) Reference line

(E) Personalisation of issues

Choose the correct answer from the options given below :
(1)  (A). (C). (D) only (2) (A). (B). (C) only
(3)  (B). (C). (D) only (4) (C). (D). (E) only

e g T T UearE TS | A f o
(A)  f=mT = g

(B)  GHEE 9

(© == = T

(D) ==H @

(E)  Twemet # aEfaa o

=1 fau o el 9 @ wE S W = i

1)  Fa (A). (C) 3R (D) (@) == (A), (B) 31 (C)
(3)  Fa= (B). (C) 5 (D) @) ¥4 (O). (D) 3 (E)



[Question ID = 2845][Question Description = Q17_GP_Set12_S1]
1.1

[Option ID = 11377]
2.2

[Option ID = 11378]
3.3

[Option ID = 11379]
4. 4

[Option ID = 11380]

Correct Answer :-
o 1

[Option ID = 11377]

Given below are two statements :
Statement I: Frames can be a causal factor in decoding educational information.

Statement IT: The social background of the learners also influences thelr frames.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement Il are false
(3) Statement I is true but Statement II 1s false

(4) Statement I is false but Statement II 1= true

= 31 e ffr T E

FuE (I): A0 IS F F2HAR § TAE (FH) U AR HE B A 2

FyA (ID) :  Foremedi =i wrfers goyfy ot geigen (%9) i o wafad = 2

IYE FYA F A °, @ 0 e § 8@ wd 3w 9h1 Hian
(1) =EIARIIIATIE |

(2) w3k I 3E 390 2 |

(3) = IE 7, =i wee I 9EeT 2 |

(4) w9 [ 55 2, =T wu [ E4 2

[Question ID = 2846][Question Description = Q18_GP_Set12_S1]
1. 1

[Option ID = 11381]
2.2

[Option ID = 11382]
3.3

[Option ID = 11383]
4. 4

[Option ID = 11384]



Correct Answer :-

e 1

[Option ID = 11381]

The sequence of steps 1n organizing written material for communication 1s :
(A) Read over

(B) Evaluate

(C) Jot down points

D) Construct an outline

(E) Describe

Choose the correct answer from the options given below :
(1) (@A) (B). (C). (D). (E) (2) (©). (A). (B). D). (E)

(3)  (C). (D). (A). (E). (B) 4  (B). A). D). (E). (C)

(&) - (T3 )
(B) oA

(C) ueA Tt =t fon
(D) =Y @l =

(E) av= F

= fam U e § ° mE I 99 i

(1 @A) (B).(C). (D). (E) 2) (0. A). (B). (D). (E)
(3)  (C). (D). (A). (E). (B) 4  (B). (A). D). (E). (C)

[Question ID = 2847][Question Description = Q19_GP_Set12_S1]
1.1

[Option ID = 11385]
2.2

[Option ID = 11386]
3.3

[Option ID = 11387]
4. 4

[Option ID = 11388]
Correct Answer :-
e 1

[Option ID = 11385]

Match List I with List IT :

ListI List IT

Models of communication Characteristic feature



(A) Mathematical model (I) Perceiving

(B) Circular model (II) Global village concept
(C) Medium — centric model (III) Linear
(D) Selectivity model (IV) Decoder becomes encoder

Choose the correct answer from the options given below :

1 (A)-aD., B)-IV), (O)-@). (D)-AIL)
@ (A-AV). (B)-D). (C)-(1I). (D)D)
(3 (A-D. B)-aD, (O)-I), (D)-IV)
4 (A)-ID. (B)-(IV), (O)-aD). (D)-(D

THi-1 % Ty g1 = foem ifse

-1 11
(A) T afaEE @ =T F=
(B) = wfaAE D) fFva-um T
(C) wrom-FHiza Tfaam 1D ==
(D) =EETEF Ao (IV) TF=fmiar F2EaEs o5 = 2 |

4= 20 T e 5 | wE 39 =9 e

(1) (A)-(ID), (B)-(IV), (C)-(D. (D)-(I1I)

(2) (A)-(IV). (B)-(D). (C)-(I1I). (D)-(D)

(3) (A)-(D). (B)-(D), (C)-(III), (D)-(IV)

(4) (A)-(I1I), (B)(IV). (C)-(1I), (D)-(I)
[Question ID = 2848][Question Description = Q20_GP_Set12_S1]
1.1

[Option ID = 11389]
2.2

[Option ID = 11390]
3.3

[Option ID = 11391]
4. 4

[Option ID = 11392]
Correct Answer :-
o 1

[Option ID = 11389]

Six bells commence tolling together and toll at intervals of 2, 4, 6, 8, 10 and 12 seconds
respectively. In 30 minutes, how many times do they toll together?

(1 4 2 10
(3 16 @ 20

T: HieAT TRel TH WY TS IE FA A R HES: 2, 4, 6, 8, 10 3R 12 THUS F 30 W Al # |
e 30 foe & 3 o Ty foeat am w=i e
(1 4 (2 10
(3) 16 (4 20
[Question ID = 2849][Question Description = Q21_GP_Set12_S1]
1.1

[Option ID = 11393]
2.2

[Option ID = 11394]
3.3

[Option ID = 11395]
4. 4

[Option ID = 11396]



Correct Answer :-
e 1

[Option ID = 11393]

Cost price of two mobilephones is same. One is sold at a profit of 30% and the other for
6300 more than the first. If the net profit is 40%. Find the cost price of each mobile.

(1) 42,500 (2) 50,000
(3 25,500 (4) 31,500

31 AIEIEA 1 FAYCA BAAE £ | UF i 30% S 9 S=1 0 3 g9 W s ° %, 6,300/ SHE Hind W

ST AT | R Fe o9 40% 7 A1 T HiEse S e 76 8 7

(1)  42.500/- (2) 50,000/-
(3)  25.500/- (4) 31.500/-

[Question ID = 2850][Question Description = Q22_GP_Set12_S1]
1.1

[Option ID = 11397]
2.2

[Option ID = 11398]
3.3

[Option ID = 11399]
4. 4

[Option ID = 11400]

Correct Answer :-
o 1

[Option ID = 11397]

Consider the following statements regarding clocks :
(A) When the hands are in opposite directions, they are 30 minute spaces apart.

(B) The hands are in same straight line when they are co incident or opposite to each
other.

(C) If a clock indicates 8:45, when the correct time is 9:00. it 1s said to be 15 minutes too
fast.

Choose the correct statements from above :

(1) (A) and (C) only (2) (B) and (C) only

(3)  (A) and (B) only (4) (A). (B) and (C)

Hisal % Hey o FleTigd HUEl W faEn i

(A) =9 g vF gE ° fAuiia foon 4 widi £, 9 30 e % st B gl woEE F

(B) W AT vH TAF Hid T | 26 2 4 41 Al 9 OF @y Bl 2 A U gad % faeda w5l A |

(C)  =7F %75 "=l 8 : 45 &5 = TAG FWAI £ A 5 @99 9 : 00 == & 1 77 15 o=z suma s m
W f2u U fawel § 9 "R I 1 99 HI

(1) == (A) #:il (O) (2) =a= (B) 3l ()

(3  FA= (A) FR (B) @ (A). B) #F (C)

[Question ID = 2851][Question Description = Q23_GP_Set12_S1]
1. 1



[Option ID = 11401]
2.2

[Option ID = 11402]
3.3

[Option ID = 11403]
4. 4

[Option ID = 11404]
Correct Answer :-
o 1

[Option ID = 11401]

19 4 , :
) In how many years will a sum of 800 at 10% per annum compounded semi annually become
926.107
(1) 5/2 years (2) 3/2 years
(3) 2/3 years (4) 4/3 years

o @t ® . 800/- 1 T 10% Wia =9, Adaifi® Twalg == $1 5 T 5. 926.10 71 w0 ?
(1) 52 2 32T

(3 23=w (4) 4/3=m

[Question ID = 2852][Question Description = Q24_GP_Set12_S1]
1.1

[Option ID = 11405]
2.2

[Option ID = 11406]
3.3

[Option ID = 11407]
4. 4

[Option ID = 11408]

Correct Answer :-

e 1

[Option ID = 11405]

Given below are two statements :

Statement I: If a person covers a certain distance at x kmph and an equal distance at

B )kmph.

y kmph. Then, the average speed during the whole journey is (J;

Statement II : If the ratio of the speeds of x and v 1s a:b, then the ratio of the respective
time taken by them to cover the same distance is b:a.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3 Statement I 1s true but Statement II is false

(4) Statement I is false but Statement II is true

49 3 e Rr o #

FH ([): R UF A oh Aewd @ ox FAL/Em foafs 3 owm w2 e ommm @ oW
y o o e o i A, A st A st ["2+3']%5,nﬁ,uﬁw%|
XV

Fo (II) : 3R x 3 y = Tid %7 3999 a : b 3, a1 T9F 3 H 99 B § 395 gH o T THT H
Wb:a%l

SIULRE U = AT °, 49 (o T faReal A O HE 39 1 99 i



(L) =T L HIT W SAT HH & |
(2)  FuF I3k I3 39 2 |
(3) =9 14 2, vt w9 11 31507 & |
(4) 9 I 55 7, =it e LT 2 |
[Question ID = 2853][Question Description = Q25_GP_Set12_S1]

1.1

[Option ID = 11409]
2.2

[Option ID = 11410]
3.3

[Option ID = 11411]
4. 4

[Option ID = 11412]
Correct Answer :-
° 1

[Option ID = 11409]

“Environmentalists accuse us of blocking the plan to convert Antartica into a World park. In
fact nothing could be further from the truth. Antartica 1s a huge continent teeming with life.
It is home to millions of penguins. seals, seabirds and sea lions. Also great schools of finfish
and whales inhabit its coastal waters.”

Which fallacy is committed in the above argument?

(1) Red Herring (2) Strawman

(3) Hasty generalization (4) Slippery slope

‘wleifag 76 #EERleE Fi fava-smE A qfEiad e s e O U R 2 Bd 2 | aread | TeE
AfeF TET T AT TE 7 AT | AVSERICH AE ¥ AEUE TF "5d 931 GREA 7 | TE A e,
HieAl, Tqd-Tiaml 3 IR 1 W B | UAE-TSel AN gell 1 UF 991 T SHE 92 We ° Ha

FATE |

ITEFT IfFd § FA-TT BT TI A B 7

(1) = @ =i
3 = TR (4 f=h =

[Question ID = 2854][Question Description = Q26_GP_Set12_S1]
1. 1

[Option ID = 11413]
2.2

[Option ID = 11414]
3.3

[Option ID = 11415]
4. 4

[Option ID = 11416]
Correct Answer :-
e 1

[Option ID = 11413]

Consider the series “tiger, feline, mammal, animal®. Which of the following statement/s
is/are true with reference to this series?

(A) It 1s in order of increasing intension

(B) It is in order of increasing extension

(C) It is in order of decreasing intension

(D) It is in order of decreasing extension

Choose the correct answer from the options given below :

(1) (A and (D) only (2) (B)only
(3) (B) and (C) only (4) (D) only



Yamg, famm, wEEE, T 39 gEen W fEn fite SR s F W gmen F wed § Feied 5 "
i HYH T 27

(A) TE N F u2d FAA 2|

B) g A HEgd HAHE |

(C) TTMdFazdFALR

(D) FF A & ued FHAE R |
S fRu o el 3 8 wE I W =9 i

(1) == (A) 3 (D) 2 F= (B)
(8) == (B) ¥ (C) (4 Fa= (D)

[Question ID = 2855][Question Description = Q27_GP_Set12_S1]
1.1

[Option ID = 11417]
2.2

[Option ID = 11418]
3.3

[Option ID = 11419]
4. 4

[Option ID = 11420]

Correct Answer :-

e 1

[Option ID = 11417]

Given below are two statements :

Statement I: The example (udaharan) is a special feature of the Nyaya syllogiam and it
illustrates the truth that the universal major premise 1s the result of a real
induction.

Statement IT : Induction in Nvaya conception of inference 1s based on the law of causation
and induction and deduction cannot really be separated.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement IT is false
(4) Statement I 1s false but Statement II is true

Fo (I):  =E-ARA F Y EEEd g 2 3 4w 39 6ol R GigEw 99 W 2 6 g
=T SATIT I aRiaE SAFTEA i I

Fod (ID) : TR 1 T FF9Eo 3 AFEA wE-HE0 9E F S 9 S 2 SN S S
e =1 TR AT H ST A S S T R

IR FUF F AAF H, A @0 0 FEedl § § T8 39 F 99 Hian
(1) FF [3AR A 53 7 |
(2)  FF IR 2 a7 2 |
(3) Wy IH 7, @i w9 I #1008 2 |
(4) e I AE 7, with e [T 2 |
[Question ID = 2856][Question Description = Q28_GP_Set12_S1]
1.1

[Option ID = 11421]
2.2

[Option ID = 11422]
3.3

[Option ID = 11423]
4. 4

[Option ID = 11424]

Correct Answer :-



[Option ID = 11421]

Given below are two statements :

Statement I: An argument form that allows for a substitution instance having true
premises and a false conclusion is an invalid form.

Statement II : Any arguments having true premises and a false conclusion 1s an invalid
argument.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s true but Statement II is false

(4) Statement I is false but Statement II is true

d= 2w Ry E

#9F () : W I UET 1 UH e B ATE 26 B T oo e A g s e e
Fu (ID) : UHE Iiw T5a8 He7 AR 9 997 A8 e 21, v Hag g 2|

IHIE FUA F AA® °, " 5w et 2 9 wd 3w w1 Hifew

(1) =wEIsIlsmaas |

(2 A D3R I 2H /8 7 |

(3) w19 7, i w1 a2

(4) w9 I A5 7, o e a2

[Question ID = 2857][Question Description = Q29_GP_Set12_S1]

1.1

[Option ID = 11425]
2.2

[Option ID = 11426]
3.3

[Option ID = 11427]
4. 4

[Option ID = 11428]

Correct Answer :-
e 1

[Option ID = 11425]

All animals with such and such features are either bisons or buffalos.
This animal has those features and it is not a bison. Therefore it is a buffalo.

According to Nyaya school this argument exemplifies which one of the following pramanas

(instrument of knowledge)?
(1) Upamana (Comparison) (2) Sabda (Verbal authority)

(3) Arthapatti (Postulation) (4) Anumana (inference)

-39 Al % WY R FEE 1 9 & B A A |

30 WA % U 9 fgear # 37 g7 e 94 7 satee 77 6 2 |

=T I F SHAR A7 A FE g1 G § 6 RE TE (S 9 A f

1) v @ W=
(3)  HAum @) A

[Question ID = 2858][Question Description = Q30_GP_Set12_S1]
1.1

[Option ID = 11429]



2.2

[Option ID = 11430]
3.3

[Option ID = 11431]
4. 4

[Option ID = 11432]

Correct Answer :-

° 1

[Option ID = 11429]

The Campus Wide Network in a University includes a firewall. Which one of the following is

a firewall used for?

(1) Deleting data from a network
(2) Restricting access to a network
(3) Encrypting network data

(4) Collecting transactional data

% favafoenem ° sfmi-frga-za% § v 9ia Ao = 2 | Fefaies 8 9 5 o v g

ST e S R 7
(1) T J2a 9 221 fSeiie & & fon
(4)  ZTHFIEE B2 T FAH b o

[Question ID = 2859][Question Description = Q31_GP_Set12_S1]
1. 1

[Option ID = 11433]
2.2

[Option ID = 11434]
3.3

[Option ID = 11435]
4. 4

[Option ID = 11436]

Correct Answer :-

° 1

[Option ID = 11433]

Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as

Reaszon (R) :

Assertion (A): A bitmap file format (.BMP) is not suitable for graphics on a website.

Reason (R) : Bitmap graphics store information about every individual picture element

(pixel) making up an image, thereby giving quite large files.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) is false

idy (AN 12 falea it (Y 12 Ffmie



e W by Joh e o el el S L cee S gt Sl
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= (R) fazy miteen veas sfefagae fuem ofomz (fusget) & o1 8 S whiEd Fian 2

U S 94 5, fEE w3 e shd |

IUTRE FUA F AT 9, S 3 T AT 4§ HeE 3UET 39 1 99 Fa

(1) (A 37 (R) ZH1 T3 # 317 (R), (A) F1 97 =w=n 2 |
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(3 (AT AR ®) EE T R
(4)  (A) 318 TA 7 @ik (R) 54 2
[Question ID = 2860][Question Description = Q32_GP_Set12_51]

1.1

[Option ID = 11437]
2.2

[Option ID = 11438]
3.3

[Option ID = 11439]
4. 4

[Option ID = 11440]
Correct Answer :-
e 1

[Option ID = 11437]

Identify the correct order of the following computer storage devices in order of speed of data
retrieval from fastest to slowest.

(A) Hard Disk
(B) Main Memory
(C) CD-ROM

Choose the correct answer from the options given below :

1 B.O).A) (2) (0.A).®)
3 A.0.6B @ (B.@A.©

T A A wE dW S R F o o § Fetan = T (P F oA o w
(A) =E T

(B)  #4 TEA

(C) Hig sy

/= f2u T e 3 | wE I W = e

(1) (B). (). @A) 2y (0. A). B
(3) (A), (C). (B) (4 (B). (A, (©)

[Question ID = 2861][Question Description = Q33_GP_Set12_S1]
1.1

[Option ID = 11441]
2.2

[Option ID = 11442]



3.3

[Option ID = 11443]
4. 4

[Option ID = 11444]

Correct Answer :-

e 1

[Option ID = 11441]

Given below are two statements :

Statement I: A copy of the email is sent to a Ce (Carbon copy) address and other recipients
can see that address.

Statement IT: A copy of the email 1s sent to a Bee (Blind carbon copy) address but other
reciplents cannot see that address.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement IT is true

= F R E

Fod (I) :  UF 3-Ue I Uty U HLEHL (FEE F) F W W At s @iz 5@ @ w2
T 7 |

F9 (1) : TF -1 FI Tty oF S, (sAEs—FEA-F1) % 94 7 951 = | g b
30 94 B TE o =

YL U = AT A, A 5 T faseai § ° HE 3 1 =94 i
(1) #E IH MeE o 7 |
(2 w3 26 s 2 )
(3) =9 [Hcg 2, ot 53 11 70e7 2 |
(4 =FRIEE: oI FE OaF 2]
[Question ID = 2862][Question Description = Q34_GP_Set12_S1]
1.1

[Option ID = 11445]
2.2

[Option ID = 11446]
3.3

[Option ID = 11447]
4. 4

[Option ID = 11448]
Correct Answer :-
° 1

[Option ID = 11445]

30) Which of the following file format contains exclusively the ASCII file format?
(A) PDF
(B) RTF
(© JPG
D) CSV
(E) TXT

Choose the correct answer from the options given below :

1y fAY (P and (T anls ™ By iMyand F anly
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3 (A). (C) and D only (4) (C), (D) and E only

fr=Atetiga 9 ° % H5e b {990 U uE =l AT AT, e FiHZ 1Al B 7

=]

A) HEmE,

B) AU,

© S,

D) HumE

(E) Fruwm A

+ra fog = et 9 @ @it 3 = =991 i

(1)  #== (A). (B) 3 (D) (2 F=9 (B), (D) 3R (E)
(3)  FA= (A). (C) ¥F (D) @) 3 (C). (D) ¥k (E)

[Question ID = 2863][Question Description = Q35_GP_Set12_S1]
1. 1

[Option ID = 11449]
2.2

[Option ID = 11450]
3.3

[Option ID = 11451]
4. 4

[Option ID = 11452]

Correct Answer :-

e 1

[Option ID = 11449]

Millennium Development Goal 8 — ‘To develop global partnership for development’ has the

following targets :

(A) To address special needs of least developed countries.

(B) To halve by 2015 the proportion of population without sustainable access to safe

drinking water and basic sanitation.
(C) To deal exhaustively with debt problem of developing nations.

(D) To provide access to affordable essential drugs in developing world in collaboration

with private sector.

(E) To have significant improvement in the lives of 100 mn slum dwellers.

Choose the correct answer from the options given below :

(1 (A).(C). (D), (E) only 2 (A). (C). (D) only
(3)  (C). (D). (E) only 4 (B). (D), (E) only

wrEATss! ahm S-8- ‘o B dfvas wEer O e % Feieiad |95 F



(A)  TEH H TR S hl e SAETERarA O S S |
(B) 2015 &=, A% U5 Wl AN g1 TSl a9 ST T5d o (SHT SHEEET % AT B AT FAT
()  Tommsfict goi i F= i omen $ W a2 H W e F

it

(D) Tl &= = wear w fasmeie g A 2w 90 A 3AAl 9% Yed WaH T |

(E) 100 faferm gt farfa=t = <fea d geeegel gan = |

= f3u o faeT 5 O O 39 F 9EA i
(1)  F3= (A). (C), (D), (E) (2) == (A), (C), (D)
(3  Fa=(C), D). (B) (4) Fa= (B). (D). (E)

[Question ID = 2864][Question Description = Q36_GP_Set12_S1]
1. 1

[Option ID = 11453]
2.2

[Option ID = 11454]
3.3

[Option ID = 11455]
4. 4

[Option ID = 11456]

Correct Answer :-

e 1

[Option ID = 11453]

Ozone layer depletion 1s on account of :

(A) Chlorinated hydrocarbons
(B) Sulphur containing compounds
(C) Carbon monoxide

(D)  Nitrogen containing fertilizers

Choose the correct answer from the options given below :

(1) (A). (C). (D) only (2) ). ®). (). D)
(3)  (A). (B). (C) only (4)  (A). (D) only

Q)  FEEES EEgTEE

(B) = IH AT

(C) =& HATHES

(D) TSz T FATF

= fau 7o faem 9 | R 3 W e i

(1) FE A, (O FA D) () (A). B). (O) = (D)
(3) @AW (A). B)FR (C) (4 Fa (A) 31 (D)
[Question ID = 2865][Question Description = Q37_GP_Set12_S1]

1.1

[Option ID = 11457]
2.2

[Option ID = 11458]
3. 3



[Option ID = 11459]
4. 4

[Option ID = 11460]

Correct Answer :-

e 1

[Option ID = 11457]

High values of which of the following parameters indicate good-quality water?

(1) Dissolved oxygen (DO) (2) Chemical oxygen Demand (COD)
(3) Biochemical oxygen Demand (BOD) (4) Conductivity

Fraferfaa wrarer # @ e % 399 i St i T orE g W 2 7

(1) g e A (fEeieas stidsm) (2) HHFe A s (H.eE)
(3)  IHATHEFS oA fEars (A ) (4) =TT
[Question ID = 2866][Question Description = Q38_GP_Set12_S1]

1.1

[Option ID = 11461]
2.2

[Option ID = 11462]
3.3

[Option ID = 11463]
4. 4

[Option ID = 11464]

Correct Answer :-

e 1

[Option ID = 11461]

Arrange the following solar cell base materials in order of their Band gap energy :

(A)  Silicon (S1)

(B) Germanium (Ge)

(C) Gallium Arsenide (Ga As)
(D) Cadmium Sulphide (CdS)

Choose the correct answer from the options given below :

1 @A=>3B=D)=(©) (2) W=@®=©)=D)
3 OM=©0=A")=® @ M=@®=(©)=®

frfetiian dien Oe o9 wefEe (A S snaiauE) #1399 §s 09 oIS % AEn WosgEdd

(A)  faferwm (Si)

(B)  wHFEH (Ge)

(C) Tiferm saTEs (Ga As)
(D)  FefEm gewEs (CAS)

= fzu T fawed § 9 99 39 #1994 i

1) @=>B=D=(©) 2 W=@®=©0=D)



3 O=0©=A=®m® @ @D=@&)=(©)=DdB

[Question ID = 2867][Question Description = Q39_GP_Set12_S1]
1.1

[Option ID = 11465]
2.2

[Option ID = 11466]
3.3

[Option ID = 11467]
4. 4

[Option ID = 11468]
Correct Answer :-
° 1

[Option ID = 11465]

33) The National water mission under climate Action plan of Government of India seeks to
improve water use efficiency by :
(1) 10% (2) 20%
(3)  30% @ 50%
qRA PR % W FE A F S TEE W 99, Wl TEE gad PIGHGE

AT 915 2 |

(1 10% 2) 20%
(3  30% @ 50%

[Question ID = 2868][Question Description = Q40_GP_Set12_S1]
1.1

[Option ID = 11469]
2.2

[Option ID = 11470]
3.3

[Option ID = 11471]
4. 4

[Option ID = 11472]
Correct Answer :-
o 1

[Option ID = 11469]

36
) Who 1s the Visitor of all the Central Universities?
(1) Education Minister of India (2) UGC chairman
(3) The President of India (4) The Chief Justice of India

¥l F5 favataem =1 gereaa (fafwm) #A 27

(1)  ara = faemef (2 gt = s
(3) WA % Uk (4) 9Fd F TuE =ETE
[Question ID = 2869][Question Description = Q41_GP_Set12_S1]

1.1

[Option ID = 11473]
2.2

[Option ID = 11474]
3.3

[Option ID = 11475]
4. 4

[Option ID = 11476]



Correct Answer :-
o 1

[Option ID = 11473]

37) Given below are two statements :

Statement I: TUGC has been established by an act of Indian parliament to regulate the
quality of higher education.

Statement IT: The executive council of a Central University 1s empowered to decide the
minimum qualification for the recruitment of the faculty.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I 1s incorrect but Statement II 1s correct

= 31 Fom g E

FoA () :  T=a foen Fi e e F oo g i 6 Fr e awdE gwE F v atatem g e

Fo () : el favaiaeed #1 FEFL TS FRE R S4 % v =Ead JrEa [gnm # fo

IIFA FUA T AT °, A 50 0 fawen 8§ weE S0 S5 R =9 A
(1) = [3n I3 &4 2 |

(2 e I3 LM e 2 |

(3)  #wE [HE 2, i %o 1177 2 |

(4  F [7=d 2, = 5e ILEE 7 |

[Question ID = 2870][Question Description = Q42_GP_Set12_S1]
1.1

[Option ID = 11477]
2.2

[Option ID = 11478]
3.3

[Option ID = 11479]
4. 4

[Option ID = 11480]
Correct Answer :-
o 1

[Option ID = 11477]

38
) Given below are two statements : One is labelled as Assertion (A) and the other iz labelled as
Reaszon (R) :
Assertion (A): The Central Government of our country is trying to increase access to
higher education.
Reason (R) : The public-funded universities and colleges can accommodate only a

limited number of students.

In the light of the above statements, choose the most appropriate answer from the options



given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

Hi9 71 Fu faw U F - v A9 (Assertion A) % ®9 § fafiga ® A 3AT 5% FE0 (Reason R) +

=
AU (A) - TR 4% il Frg THR Io9 04 9 5 | 9fg T F = A 2|
0 (R) : A e o oife Svatarem 3 e Fae @iivm gen 9 v .

T 2 |

I FU F A 4, A AU fawe § ¥ e 39 I F =9 i

D () F R) 3 T E AR R). Q) F = ==

@ (A3 R) 3 T F A (R). (A) F w7 == w#_ O |
(3 (A= 2 A (R) T A 2

@ (A) T T 2w R) T 2

[Question ID = 2871][Question Description = Q43_GP_Set12_S1]
1. 1

[Option ID = 11481]
2.2

[Option ID = 11482]
3.3

[Option ID = 11483]
4. 4

[Option ID = 11484]

Correct Answer :-

° 1

[Option ID = 11481]

Given below are two statements :

Statement I: As per the preamable to the constitution. India is a secular country.

Statement II : Setting up educational institutions by religious minority communities 1s

against the constitution.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I 1s incorrect but Statement II 1s correct



fr= 31w fem e E

w5 ([): Wl =l T SAET, 9RE U e 29 F

FuA (II) : T SoTEeTF G5E1 g 4 el =l T daaE-faeg 2

ITIFA FUA T AT °, A 20 0 e § @ weE 30 I w0 =9 A

(1) o I3 I3 78 2 |

@ w1 HAR I EE 7o #

(3) w15 7, wfhT ®ua I 7eq 7 |

(4) = 17| 7, =it we LT 2 |
[Question ID = 2872][Question Description = Q44_GP_Set12_S1]
1. 1

[Option ID = 11485]
2.2

[Option ID = 11486]
3.3

[Option ID = 11487]
4. 4

[Option ID = 11488]

Correct Answer :-
e 1
[Option ID = 11485]

Match List I with List IT

List T List IT
(A) UGC (I) Medicine
(B) AICTE (I) Teacher Education
(C) NCTE (III) General Education
(D) MCI (IV) Technical Education

Choose the correct answer from the options given below :

(1) @I, (B)-I), (CO)-(D. (D)-IV)
(2 @-D. B-ID, (O)-aV), (D)-(ID)
(3)  (A-ID), B)-IV), (C)-ID. (D)-(D
(4 @-IV). B)-1). (O)-(ID. (D)-ID

-1 = =y g1 =1 e fifsw

~

a1 =111



(&) 7= @ Tafwe

B) UAEH AT (D) A= foren
(C) wAH#is AID) == farE
(D) T = (IV) e forem

H= fou o et 4 | FE I T i

(1)  A-1D. (B)-D. (C)-(1). (D)-AV)
(2 A)-D. B)-aD). (C)-aV). (D)-IID
(3)  (A)-ID), B)-IV), (O)-1D). (D)-(D
4)  (A)-IV). B)-D. (C)-(1I). (D)-(II)

[Question ID = 2873][Question Description = Q45_GP_Set12_S1]
1.1

[Option ID = 11489]
2.2

[Option ID = 11490]
3.3

[Option ID = 11491]
4. 4

[Option ID = 11492]

Correct Answer :-
o 1

[Option ID = 11489]

Topic:- 05th_SET12 Shift 2_C

R Read the following passage and answer question,

Poor self-images of the worst kind are created, or enlarged, when teachers, people in
authority or even the general public come in contact with the underprivileged members of
the soclety in a manner that produces inferiority feeling in them. It does not take much
imagination to know that the stereotype portrayed would lead to a feeling of inferiority.
Another cause of a poor self-image is the tendency to confuse failure in a project with a
failure in life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image slide starts. the natural
tendency 1z to feed the inferiority feeling. Many people do this when they castigate
themselves because they can’t remember everything they hear and everybody they meet,
which brings us to the cause of an untrained memory. For the moment. there are two
warming thoughts which will give you a lot of comfort. First., a perfect memory does not
indicate a great mind any more than a huge dictionary. with all the words in it. represents a
great plece of literature. Second. the person who cannot remember 1s infinitely better off
than the one who can't forget. These two thoughts are temporarily comforting, but do not
hang vour hat on them. Actually there is no such thing as a ‘good’ memory or a ‘bad’ memory.
It 1s either trained or untrained. The choice of whether you train it or leave it untrained 1s
up to you. One more cause of a self-image 1= an unrealistic and unfair comparison of
experiences. We exaggerate others’ successful experience and downegrade our own success.
Experience has nothing to do with ability.

Poor self —images are the products of :
(1) Group belongingness (2) Contracted inferiority feelings

(3) Social power equations (4) Attitudes of teachers
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[Question ID = 2874][Question Description = Q46_GP_Set12_S1]
1.1

[Option ID = 11493]
2.2

[Option ID = 11494]
3.3

[Option ID = 11495]
4. 4

[Option ID = 11496]

Correct Answer :-

e 1

[Option ID = 11493]

Read the following passage and answer question,

Poor self-images of the worst kind are created, or enlarged, when teachers, people in
authority or even the general public come in contact with the underprivileged members of
the soclety in a manner that produces inferiority feeling in them. It does not take much
imagination to know that the stereotype portrayed would lead to a feeling of inferiority.
Another cause of a poor self-image is the tendency to confuse failure in a project with a
failure in life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image slide starts. the natural
tendency 1z to feed the inferiority feeling. Many people do this when they castigate
themselves because they can’t remember everything they hear and everybody they meet,
which brings us to the cause of an untrained memory. For the moment. there are two
warming thoughts which will give you a lot of comfort. First., a perfect memory does not
indicate a great mind any more than a huge dictionary. with all the words in it. represents a
great plece of literature. Second. the person who cannot remember is infinitely better off
than the one who can't forget. These two thoughts are temporarily comforting, but do not
hang vour hat on them. Actually there is no such thing as a ‘good’ memory or a ‘bad’ memory.
It 1s either trained or untrained. The choice of whether you train it or leave it untrained 1s
up to you. One more cause of a self-image 1= an unrealistic and unfair comparison of
experiences. We exaggerate others’ successful experience and downegrade our own success.
Experience has nothing to do with ability.



What is the normal reaction of the people to failures?

(1) Ignore the failures
(2) Sympathising with the shde
(3 Projecting a single failure as failure in life

(4 Social ostracisation against failures

Frefafiga sraam =t ufee ok 39w snafE gwa =1 = e

frFean U + wfF=a anea-fas w1 fmiw @ G w2 2 oS e, wema | @ mme
TH-HATS % HG9Eiad geE % WY 36 a0 8 TR § AT B S 398 2Aal il 9EE Io9d el 2 | TR
FEAT Foud W W faewa T6 7 6 ol wleag gwon fa-wm i s o S 7 ) s srer-fae
T O FAU UF TS § SEEA 74 Hl OF A9 § IEEA 74 F WT 705 41 i TG 2 | 0F aes
=t formem § v w9 s 2 2 W 9w = TR a0 Tl 2, UF SThel STl B AEd § SEEe

7 % WY TEEEE F] e A 7 | TR 3R E9 H AE-T0a 91 e g #E AW e 2 2| U
IR T AR AT ) T () W 2l 2 dl Wrhias vafs #H-urEan #afe 24 fi A w
2| WA W S v A w E W A vE w P A g E e el 3 few 2, g e § o
AR GFA 2 A 3 | TR UH WS Hiq UF 9 gig i AT 9 A Sha Fadl 7 T A oh
T # S T S S 2 S g A TR | 4 A e e = S g 3 A # g o
gRON & A9 74 B0 | A el oia A g = A i A =i 7@ A 2 | " A gfem o
smforfer =it 21 29 o8 wfufaa = W swfntEa = 2 s I am W il e 2| s
TF A FT ST FT AR O S g 2 | B g F FEear S Se- e S
# AR S T w A o | e A T e A6

(1)  FEEed W A T8

(2) T (wrEs) & Wy gEayl

(3) U Iehell FEEAAT I HiGT H AAEAAT = Y H T HAT

[Question ID = 2875][Question Description = Q47_GP_Set12_S1]
1.1

[Option ID = 11497]
2.2

[Option ID = 11498]
3.3

[Option ID = 11499]
4. 4

[Option ID = 11500]

Correct Answer :-

e 1

[Option ID = 11497]

Read the following passage and answer question,

Poor self-images of the worst kind are created, or enlarged, when teachers, people in
authority or even the general public come 1n contact with the underprivileged members of
the society in a manner that produces inferiority feeling in them. It does not take much
imagination to know that the stereotype portrayed would lead to a feeling of inferiority.
Another cause of a poor self-image is the tendency to confuse failure in a project with a
failure in life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
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tendency is to feed the inferiority feeling. Many people do this when they castigate
themselves because they can't remember everything they hear and everybody they meet,
which brings us to the cause of an untrained memory. For the moment. there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary. with all the words 1n it. represents a
great plece of literature. Second. the person who cannot remember is infinitely better off
than the one who can't forget. These two thoughts are temporarily comforting, but do not
hang vour hat on them. Actually there is no such thing as a ‘good’ memory or a ‘bad’ memory.
It is either trained or untrained. The choice of whether you train it or leave it untrained is
up to you. One more cause of a self-image i1s an unrealistic and unfalr comparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.

When people start castigating themselves, they :
(1) Self — feed the inferiority feeling (2) Try to ameliorate the suffering

(3) Lose the power of reasoning (4) Make efforts to improve their images

TrFean TR & wfFEd AE-fam F Fmie @ FEEr v 3 e fes, S |m oa '
FA-HATH % GlgumEiad TEe % w39 alih ° G0 0 A £ A 399 SHaT Bl WEET 36 i 7 | A8
FAA T 4 W T TE 2 TR fafae =g gvon #R-vEm i o 9 T 2| anfEEe sren-fae
T FE FAO UF TS § SFEEA 7 B OF G J ATFA BH F WI T3 1 TG 7 | TF A
ot foerem @ v famm § s 2 2 W 9w = T o O 2, UF 3Tl ST B SE 0 e
B % WY TEATH i Ted] O 2 | T8 308 BY H Hial-10a 91 W % gul FE 91 GAsied w2 2| U6

I0 59 A= Aen-fr fi o (=) TR w5t 2 A v i S #oafe 21 A A oa
2| 9Ed U A U A FA F w9 A 30 me H A A gAd # iga Td 3 fiem 2, # oam we | sem
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g ¥ HOP 09 =150 | wAEE o=l wgia @ ol wia A A F < T8 w2 | 38 7 A ity =
saforieaa =t 21 a9 38 uivde = oW srffEE w3 e gAE A w R ey 2 e -fam
TF S F SNl I SERAEE U S o 7 | 76 g0 F Wy AgEEl F agi- =gt S
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[Question ID = 2876][Question Description = Q48_GP_Set12_S1]
1.1

[Option ID = 11501]
2.2

[Option ID = 11502]
3.3

[Option ID = 11503]
4. 4

[Option ID = 11504]
Correct Answer :-
° 1

[Option ID = 11501]

Read the following passage and answer question,
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authority or even the general public come 1n contact with the underprivileged members of
the society in a manner that produces inferiority feeling in them. It does not take much
imagination to know that the stereotype portrayved would lead to a feeling of inferiority.
Another cause of a poor self-image is the tendency to confuse failure in a project with a
failure in life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image slide starts. the natural
tendency 1s to feed the inferiority feeling. Many people do this when they castigate
themselves because they cant remember everything they hear and everybody they meet,
which brings us to the cause of an untrained memory. For the moment. there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary, with all the words in it, represents a
great plece of literature. Second. the person who cannot remember is infinitely better off
than the one who can't forget. These two thoughts are temporarily comforting, but do not
hang yvour hat on them. Actually there is no such thing as a ‘good’ memory or a ‘bad’ memory.
It is either trained or untrained. The choice of whether yvou train it or leave it untrained is
up to yvou. One more cause of a self-image 1s an unrealistic and unfalr comparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.

A ‘great mind indicates :

(1) Perfect memory

(2 Success in life

(3) The people he/she meets
(4) Trained or untrained mind
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[Question ID = 2877][Question Description = Q49_GP_Set12_S1]
1.1

[Option ID = 11505]
2.2

[Option ID = 11506]
3.3

[Option ID = 11507]
4. 4

[Option ID = 11508]

Correct Answer :-

e 1

[Option ID = 11505]

Read the following passage and answer question,

Poor self-images of the worst kind are created. or enlarged, when teachers., people in
authority or even the general public come in contact with the underprivilegsed members of
the society in a manner that produces inferiority feeling in them. It does not take much
imagination to know that the stereotype portraved would lead to a feeling of inferiority.
Another cause of a poor self-image 1s the tendency to confuse failure in a project with a
failure in life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image slide starts, the natural
tendency is to feed the inferiority feeling. Many people do this when they castigate
themselves because they can't remember everything they hear and everybody they meet,
which brings us to the cause of an untrained memory. For the moment. there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary, with all the words In it. represents a
great piece of literature. Second. the person who cannot remember is infinitely better off
than the one who can't forget. These two thoughts are temporarily comforting, but do not
hang vour hat on them. Actually there is no such thing as a ‘good’ memory or a ‘bad’ memory.
It is either trained or untrained. The choice of whether vou train it or leave it untrained is
up to you. One more cause of a self-image i1s an unrealistic and unfalr comparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.

The passage seeks to focus on the importance of :

(4] Good memory
(2) Untrained mind
(3) Factors determining image self

(4) Experience against ability
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